Description	Contract 23-08 - Arthur Av	enue, Tyler Avent	ıe, Coolidge Avenue, and E	Sauman Street Reco	nstruction (#835	58840)			
Solicion									
Section Title	Bid Opening: 01/16/2023 1	1:00 AM CST							
Section Title									
Section Title						PTS Contr	actors, Inc	Carl Bowers & So	ns Const Co. Inc.
Section Title Rem Code Rem Description UofM Quantity Unit Price Extension Unit Price Extension Scattons Scatto						4075 Eat	on Road		
Section 1						Green Bay,	, WI 54311		
1010 Clearing complete as specified Stations 2.00 \$3,880.00 \$6,160.00 \$1,100.00 \$2,200.00 \$1,000.00 \$2,200.00 \$1,000.00 \$2,200.00 \$1,000.00 \$2,000.00 \$1,000	Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
1010 Specified Stations 2,00 \$3,08,000 \$6,66,000 \$1,100,00 \$2,200,00 \$1,0000	Section 1						\$5,678,000.00		\$6,140,823.32
Specified Stations Zoli St,0800 S,18000 S,180000 S,1800000 S,1800000 S,1800000 S,18000000 S,18000000000000000000000000000000000000		1010	Clearing; complete as						
1010 specified Inch Diameter 460,00 S15,00 S6,00,00 S80,00 S13,800,00		1010	specified	Stations	2.00	\$3,080.00	\$6,160.00	\$1,100.00	\$2,200.00
Specified Square Yards Square		1011	Clearing; complete as						
1020 specified Stations 2.00 \$3,080.00 \$6,10.00 \$650.00 \$1,200.00 1021 specified Inch Diameter 460.00 \$10.00 \$4,600.00 \$16.00 \$7,360.00 1030 Specified Inch Diameter 460.00 \$10.00 \$4,600.00 \$16.00 \$7,360.00 1030 Specified Inch Diameter 100 \$346,562.45 \$346,562.45 \$220,000.00 1030 Removing pavement; complete as specified Square Yards 5,400.00 \$3.40 \$18,360.00 \$3.00 \$16,200.00 1030 Removing curb and gather complete as specified and asphalt sidewalk and driveway; complete as specified Square Feet 45,000.00 \$0.60 \$27,000.00 \$0.70 \$31,500.00 1200 Unclassified exavation; complete as specified Cubic Yards 5,500.00 \$18.40 \$101,200.00 \$15.00 \$82,500.00 1200 Qavinging complete as specified Cubic Yards 5,500.00 \$18.40 \$101,200.00 \$15.00 \$82,500.00 1226 Qavinging complete as specified Tons 925.00 \$0.01 \$9.25 \$0.01 \$9.25 1226 Caparing complete as specified Cubic Yards \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 1206 Caparing complete as specified Cubic Yards \$25.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 1226 Caparing complete as specified Cubic Yards \$25.00 \$1.00 \$25.00 \$35.00 \$8,750.00 1226 Caparing complete as specified Cubic Yards \$25.00 \$1.00 \$25.00 \$35.00 \$8,750.00 1226 Caparing complete as specified Cubic Yards \$25.00 \$1.00 \$25.00 \$35.00 \$8,750.00 1230 Caparing complete as specified Cubic Yards \$25.00 \$1.00 \$25.00 \$49.90 \$523,950.00 1230 Concrete pavement \$1.00		1011		Inch Diameter	460.00	\$15.00	\$6,900.00	\$30.00	\$13,800.00
Specimen		1020							
1021 specified		1020		Stations	2.00	\$3,080.00	\$6,160.00	\$650.00	\$1,300.00
1050 Mobilization; complete as		1021							
1050 specified Lump Sum 1.00 \$346,562.45 \$320,000.00 \$220,000.00 1100 Removing pavement: complete as specified Square Yards 5,400.00 \$3.40 \$18,360.00 \$3.00 \$16,200.00 Removing curb and specified Linear Feet 2,050.00 \$2.30 \$4,715.00 \$5.00 \$10,250.00 Removing curb and sphalt sidewalk and driveway; complete as specified Square Feet 45,000.00 \$0.60 \$27,000.00 \$0.70 \$31,500.00 1200 Unclassified excavation; complete as specified Square Feet 45,000.00 \$18.40 \$101,200.00 \$15.00 \$82,500.00 1200 Excavation special (paving); complete as specified Tons 925.00 \$0.01 \$9.25 \$0.01 \$9.25 1225 Sediment storage area; complete as specified Lump Sum 1.00 \$1.00 \$5,000.00 \$5,000.00 1206 Dredge material; load; transport; and dispose of devatered sediment; complete as specified Cubic Yards 250.00 \$1.00 \$250.00 \$35,000.00 \$8,750.00 1206 To concrete pavement; with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1207 To concrete pavement HES, with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1208 To concrete pavement HES, with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1208 To concrete pavement HES, with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1209 To concrete pavement HES, with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1200 To concrete pavement HES, with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90 \$49.90		1021		Inch Diameter	460.00	\$10.00	\$4,600.00	\$16.00	\$7,360.00
Specified Lump Sum 100 \$346,562.45 \$340,000 \$320,0000		1050	•						
Complete as specified Square Yards S400.00 S3.00 S18,200.00 S3.00 S16,200.00 S4,715.00 S5.00 S10,250.00 S5.00		1030	*	Lump Sum	1.00	\$346,562.45	\$346,562.45	\$220,000.00	\$220,000.00
Sumprise as specified Square Yards Square Yar		1100							
1110 gutter; complete as specified Linear Feet 2,050.00 \$2.30 \$4,715.00 \$5.00 \$10,250.00 Removing concrete and asphalt sidewalk and driveway; complete as specified Square Feet 45,000.00 \$0.60 \$27,000.00 \$0.70 \$31,500.00 1200 Unclassified excavation; complete as specified Cubic Yards 5,500.00 \$18.40 \$101,200.00 \$15.00 \$82,500.00 1220 Excavation special (paving); complete as specified Tons 925.00 \$0.01 \$9.25 \$0.01 \$9.25 1225 Sediment storage area; complete as specified Lump Sum 1.00 \$1.00 \$1.00 \$5,000.00 \$5,000.00 1226 Dredge material; load; transport; and dispose of dewatered sediment; complete as specified Cubic Yards 250.00 \$1.00 \$250.00 \$35.00 \$8,750.00 1301 Transport; and dispose of dewatered sediment; complete as specified Cubic Yards 250.00 \$1.00 \$250.00 \$35.00 \$8,750.00 1301 Transport; and dispose of dewatered sediment; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1303 HES, with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00		1100		Square Yards	5,400.00	\$3.40	\$18,360.00	\$3.00	\$16,200.00
Specified Linear Feet 2,050.00 \$2.30 \$4,715.00 \$5.00 \$10,250.00			_						
Removing concrete and asphalt sidewalk and driveway; complete as specified Square Feet 45,000.00 \$0.60 \$27,000.00 \$0.70 \$31,500.00		1110	-						
1120 and asphalt sidewalk and driveway; complete as specified Square Feet 45,000.00 \$0.60 \$27,000.00 \$0.70 \$31,500.00 1200 Unclassified excavation; complete as specified Cubic Yards 5,500.00 \$18.40 \$101,200.00 \$15.00 \$82,500.00 1220 Excavation special (paving); complete as specified Tons 925.00 \$0.01 \$9.25 \$0.01 \$9.25 1225 Sediment storage area; complete as specified Lump Sum 1.00 \$1.00 \$1.00 \$5,000.00 1226 Dredge material; load; transport; and dispose of dewatered sediment; complete as specified Cubic Yards 250.00 \$1.00 \$250.00 \$35.00 \$8,750.00 1301 Transport; and dispose of dewatered sediment; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1303 Transport; and dispose of dewatered sediment; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1304 Transport; and dispose of dewatered sediment; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1306 Transport; and dispose of dewatered sediment; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1307 Transport; and dispose of dewatered sediment; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1308 Transport; and dispose of dewatered sediment; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1309 Transport; and dispose of dewatered sediment; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90				Linear Feet	2,050.00	\$2.30	\$4,715.00	\$5.00	\$10,250.00
1120									
Square Feet 45,000.00 \$0.60 \$27,000.00 \$0.70 \$31,500.00		1120							
1200 Unclassified excavation; complete as specified Cubic Yards 5,500.00 \$18.40 \$101,200.00 \$15.00 \$82,500.00					45 000 00	to co	****	#0 = 0	424 500 00
1200 complete as specified Cubic Yards 5,500.00 \$18.40 \$101,200.00 \$15.00 \$82,500.00				Square Feet	45,000.00	\$0.60	\$27,000.00	\$0.70	\$31,500.00
Excavation special (paving); complete as specified specified Tons 925.00 \$0.01 \$9.25 \$0.01 \$9.25		1200		61: 1/ 1	5 500 00	Ø10.40	#101 2 00 00	#1F 00	#02 F00 00
1220 (paving); complete as specified Tons 925.00 \$0.01 \$9.25 \$0.01 \$9.25 1225 Sediment storage area; complete as specified Lump Sum 1.00 \$1.00 \$1.00 \$5,000.00 1226 Dredge material; load; transport; and dispose of dewatered sediment; complete as specified Cubic Yards 250.00 \$1.00 \$250.00 \$35.00 \$8,750.00 1226 To concrete pavement; with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1301 HES; with 5" CABC and grading; complete as To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement To concrete pavement HES; with 5" CABC and grading; complete as To concrete pavement				Cubic Yards	5,500.00	\$18.40	\$101,200.00	\$15.00	\$82,500.00
Specified Tons 925.00 \$0.01 \$9.25 \$0.01 \$9.25		1000	_						
1225 Sediment storage area; complete as specified Lump Sum 1.00 \$1.00 \$1.00 \$5,000.00 \$5,000.00 1226 Dredge material; load; transport; and dispose of dewatered sediment; complete as specified Cubic Yards 250.00 \$1.00 \$250.00 \$35.00 \$8,750.00 1301 To concrete pavement; with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1303 To concrete pavement HES; with 5" CABC and grading; complete as HES; wi		1220		Т	025.00	¢0.01	фо. 2 Е	¢0.01	¢0.25
1225 complete as specified Lump Sum 1.00 \$1.00 \$1.00 \$5,000.00 \$5,000.00 1226 Dredge material; load; transport; and dispose of dewatered sediment; complete as specified Cubic Yards 250.00 \$1.00 \$250.00 \$35.00 \$8,750.00 1301 To concrete pavement; with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1303 To concrete pavement HES; with 5" CABC and grading; complete as Grading; complete a				Tons	925.00	\$0.01	\$9.25	\$0.01	\$9.23
Dredge material; load; transport; and dispose of dewatered sediment; complete as specified Cubic Yards 250.00 \$1.00 \$250.00 \$35.00 \$8,750.00 \$1301 \$7" concrete pavement; with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 \$1303 \$7" concrete pavement HES; with 5" CABC and grading; complete as		1225		Lump Sum	1.00	\$1.00	\$1.00	\$5,000,00	\$5,000,00
transport; and dispose of dewatered sediment; complete as specified Cubic Yards 250.00 \$1.00 \$250.00 \$35.00 \$8,750.00 7" concrete pavement; with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 7" concrete pavement HES; with 5" CABC and grading; complete as				Lump Jum	1.00	\$1.00	ψ1.00	ψ5,000.00	ψ3,000.00
1226 dewatered sediment; complete as specified Cubic Yards 250.00 \$1.00 \$250.00 \$35.00 \$8,750.00 1301									
Cubic Yards 250.00 \$1.00 \$250.00 \$35.00 \$8,750.00		1226							
7" concrete pavement; with 5" CABC and grading; complete as specified 7" concrete pavement A 1303 7" concrete pavement HES; with 5" CABC and grading; complete as HES; with 5" CABC and grading; complete as				Cubic Yards	250.00	\$1.00	\$250.00	\$35.00	\$8 750 00
1301 with 5" CABC and grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00				Cubic Turus	200.00	Ψ1.00	Ψ200.00	\$55.55	ψο), σσ.σσ
1301 grading; complete as specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 7" concrete pavement HES; with 5" CABC and grading; complete as grading; complete as HES; with 5" CABC and grading; complete as									
specified Square Yards 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00 1303 HES; with 5" CABC and grading; complete as Figure 10,500.00 \$46.85 \$491,925.00 \$49.90 \$523,950.00		1301							
7" concrete pavement HES; with 5" CABC and grading; complete as			~ ~ .	Square Yards	10,500.00	\$46.85	\$491,925.00	\$49.90	\$523,950.00
1303 HES; with 5" CABC and grading; complete as			*				. ,		. ,
1303 grading; complete as									
specified Square Yards 1,200.00 \$51.00 \$61,200.00 \$53.90 \$64,680.00		1303	grading; complete as						
			specified	Square Yards	1,200.00	\$51.00	\$61,200.00	\$53.90	\$64,680.00

Contract 23-08 - Arthur Ave	nue, Tyler Aveni	ue, Coolidge Avenue, and B	auman Street Reco	nstruction (#8358	8840)			
Owner: Oshkosh WI, City o	ıf							
Solicitor: Oshkosh WI, City								
. ,								
Bid Opening: 01/16/2023 11:	:00 AM CST							
Dia opening, 01/10/2020 11	11111 001							
					PTS Contra	ctors Inc	Carl Bowers & So	ns Const Co. Inc
					4075 Eato:	•	Carr Dowers & So	ns const co. Inc.
	+				Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	item Code	8" concrete pavement	COLIVI	Quantity	Onit Frice	Extension	Unit Frice	Extension
		HES; with 6" CABC and						
	1313	grading; complete as						
		specified	C V 1	050.00	ФСО 20	ΦE0.020.00	# 70 (0	¢ (1 710 00
		*	Square Yards	850.00	\$69.20	\$58,820.00	\$72.60	\$61,710.00
	1334	Concrete pavement gaps;	г 1	2.00	#1 0 25 00	#2 0F0 00	Ф1 000 00	# 2 000 00
		complete as specified	Each	2.00	\$1,025.00	\$2,050.00	\$1,000.00	\$2,000.00
		Crushed aggregate base						
	1340	course; complete as		2.450.00	4= 00	#4 = 400 00	****	### F00 00
		specified	Tons	2,150.00	\$7.20	\$15,480.00	\$10.00	\$21,500.00
	1350	Pavement ties; complete						
		as specified	Each	85.00	\$10.25	\$871.25	\$10.00	\$850.00
	1352	Drilled dowel bars; 1";						
		complete as specified	Each	30.00	\$13.30	\$399.00	\$13.00	\$390.00
	1354	Drilled dowel bars; 1 1/4";						
		complete as specified	Each	310.00	\$16.40	\$5,084.00	\$16.00	\$4,960.00
		Adjust manholes and						
	1360	inlets; complete as						
		specified	Each	100.00	\$330.00	\$33,000.00	\$325.00	\$32,500.00
	1370	Turf restoration;						
	157 0	complete as specified	Square Yards	13,750.00	\$8.20	\$112,750.00	\$9.50	\$130,625.00
		Restore gravel driveway/						
	1372	apron; complete as						
		specified	Square Yards	150.00	\$23.60	\$3,540.00	\$25.00	\$3,750.00
		Cold weather covering						
	1380	(concrete pavement) -						
	1300	single visquine; complete						
		as specified	Square Yards	1,875.00	\$0.01	\$18.75	\$0.01	\$18.75
		Cold weather covering						
	1382	(concrete pavement) -						
	1362	double visquine;						
		complete as specified	Square Yards	1,875.00	\$0.01	\$18.75	\$0.01	\$18.75
		Up-charge for late season						
	1390	cold weather concrete						
	1390	pavement; complete as						
		specified	Cubic Yards	375.00	\$10.25	\$3,843.75	\$0.01	\$3.75
		12" radius curb with 6"						
	1410	CABC and grading;						
		complete as specified	Linear Feet	700.00	\$14.30	\$10,010.00	\$14.00	\$9,800.00

Contract 23-08 - Arthur Ave	enue, Tyler Aven	ue, Coolidge Avenue, and B	auman Street Reco	onstruction (#8358	840)			
Owner: Oshkosh WI, City		-						
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11	1:00 AM CST							
					PTS Contr	actors, Inc	Carl Bowers & So	ns Const Co. Inc.
					4075 Eato			
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		30" curb and gutter; 7";						
	1440	with 5" CABC and						
	1440	grading; complete as						
		specified	Linear Feet	150.00	\$41.10	\$6,165.00	\$40.00	\$6,000.00
	1460	Sidewalk curb; complete						
	1460	as specified	Linear Feet	400.00	\$35.95	\$14,380.00	\$35.00	\$14,000.00
		4" concrete sidewalk with						
	1500	3" CABC and grading;						
		complete as specified	Square Feet	31,500.00	\$7.45	\$234,675.00	\$8.00	\$252,000.00
		6" concrete sidewalk/						
	1510	driveway/ramp with 3"						
	1310	CABC and grading;						
		complete as specified	Square Feet	20,000.00	\$8.05	\$161,000.00	\$8.80	\$176,000.00
		6" concrete sidewalk/						
		driveway/ramp (HES)						
	1514	with 3" CABC and						
		grading; complete as						
		specified	Square Feet	6,200.00	\$8.45	\$52,390.00	\$8.95	\$55,490.00
	1530	6" concrete step;						
	1330	complete as specified	Square Feet	425.00	\$61.65	\$26,201.25	\$61.00	\$25,925.00
		Curb ramp detectable						
	1540	warning field (natural/						
	1010	non-painted); complete						
		as specified	Square Feet	530.00	\$32.80	\$17,384.00	\$32.00	\$16,960.00
		No. 4 reinforcing rods -						
	1550	deformed; epoxy-coated;						
		complete as specified	Linear Feet	6,000.00	\$1.80	\$10,800.00	\$1.75	\$10,500.00
		Drilled No. 4 sidewalk tie						
	1560	bars - deformed; epoxy-						
		coated; complete as	Б. 1	F1 F 00	05.65	# 2 000 F F	φ= F0	#2 022 F0
		specified	Each	515.00	\$5.65	\$2,909.75	\$5.50	\$2,832.50
		Cold weather covering (sidewalk) - single						
	1580	(sidewalk) - single visquine; complete as						
		specified	C F .	0.500.00	¢0.70	ΦE 050 00	Φ0.01	фо г 00
		Cold weather covering	Square Feet	8,500.00	\$0.70	\$5,950.00	\$0.01	\$85.00
		(sidewalk) - double						
	1582	visquine; complete as						
		specified	Cause Ft	0 F00 00	¢1.00	\$8,500.00	ወ ር 01	фод 00
		specified	Square Feet	8,500.00	\$1.00	\$6,500.00	\$0.01	\$85.00

1/23/2023

Contract 23-08 - Arthur Ave	nue, Tyler Avent	ue, Coolidge Avenue, and B	auman Street Reco	nstruction (#8358	840)			
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11:	:00 AM CST							
					PTS Contract	tors, Inc	Carl Bowers & Son	s Const Co. Inc.
					4075 Eaton	Road		
					Green Bay, W	VI 54311		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Up-charge for late season						
	1590	cold weather concrete						
	1000	sidewalk; complete as						
		specified	Cubic Yards	130.00	\$20.50	\$2,665.00	\$0.01	\$1.30
	1600	Furnish and install tree;						
		complete as specified	Each	22.00	\$565.00	\$12,430.00	\$550.00	\$12,100.00
		Locate existing property						
	1650	monuments; complete as	Б. 1	50.00	420.00	#1 000 00	#40.00	# 2 000 00
		specified Replace section corner;	Each	50.00	\$38.00	\$1,900.00	\$40.00	\$2,000.00
	1651	complete as specified	Each	1.00	\$515.00	\$515.00	\$500.00	\$500.00
		Replace existing property	Eacii	1.00	\$313.00	\$313.00	ф300.00	\$300.00
	1652	monuments; complete as						
	1032	specified	Each	50.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00
		Sawing existing	Zuerr	00.00	φοσ.σσ	<i>\$2,000.00</i>	\$50.00	\$ 2 ,500.00
	1700	pavement; complete as						
		specified	Linear Feet	2,300.00	\$3.00	\$6,900.00	\$2.50	\$5,750.00
		Sawing concrete						
	1710	pavement full depth;						
		complete as specified	Linear Feet	625.00	\$3.00	\$1,875.00	\$3.50	\$2,187.50
		Base aggregate dense;						
	1800	3/4"; complete as						
		specified	Tons	55.00	\$40.25	\$2,213.75	\$25.00	\$1,375.00
	1900	Tack coat; complete as						
	1900	specified	Gallons	260.00	\$8.30	\$2,158.00	\$3.80	\$988.00
		4" asphaltic pavement LT						
	1906	with 10" CABC and						
		grading; complete as			4==			
		specified 4" asphaltic transition LT	Square Yards	925.00	\$50.60	\$46,805.00	\$45.00	\$41,625.00
		with 10" CABC and						
	1911	grading; complete as						
		specified	Squaro Vardo	2,500.00	\$48.50	\$121,250.00	\$57.50	¢1.42.750.00
	+	4" asphaltic surface LT	Square Yards	۷٫۵۵۵.۵۵	\$46.50	\$121,230.00	\$37.30	\$143,750.00
		with 6" CABC and						
	1916	grading; complete as						
		specified	Square Yards	140.00	\$66.25	\$9,275.00	\$77.50	\$10,850.00

Contract 23-08 - Arthur Ave	enue, Tyler Avent	ue, Coolidge Avenue, and E	Sauman Street Reco	onstruction (#83588	840)			
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11	1:00 AM CST							
					PTS Contr	actors, Inc	Carl Bowers & So	ns Const Co. Inc.
					4075 Eate			
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		2" asphaltic surface LT						
		with 6" CABC and						
	1917	grading; complete as						
		specified	Square Yards	300.00	\$40.85	\$12,255.00	\$32.80	\$9,840.00
		Asphaltic cold weather						
	1918	paving; complete as						
		specified	Square Yards	575.00	\$47.50	\$27,312.50	\$0.01	\$5.75
		Remove and replace						
	1971	chain link fence;						
		complete as specified	Linear Feet	100.00	\$56.50	\$5,650.00	\$65.00	\$6,500.00
		Pavement markings;						
	1974	epoxy; 4" (white);						
		complete as specified	Linear Feet	275.00	\$12.30	\$3,382.50	\$12.00	\$3,300.00
		Pavement markings;						
	1984	symbol; epoxy (white);						
		complete as specified	Each	1.00	\$280.00	\$280.00	\$275.00	\$275.00
		Temporary pavement						
	1985	markings; paint; 4"						
	1703	(white); complete as						
		specified	Linear Feet	40.00	\$5.10	\$204.00	\$65.00	\$2,600.00
		Furnish and install 10"						
	2002	storm sewer; complete as						
		specified	Linear Feet	30.00	\$100.00	\$3,000.00	\$98.00	\$2,940.00
		Furnish and install 12"						
	2003	storm sewer; complete as						
		specified	Linear Feet	850.00	\$61.00	\$51,850.00	\$98.00	\$83,300.00
		Furnish and install 12"						
	2004	RCP Class III storm						
		sewer; complete as						
		specified	Linear Feet	60.00	\$77.00	\$4,620.00	\$98.00	\$5,880.00
		Furnish and install 15"						
	2006	storm sewer; complete as		200.00	* * * * * * * * * * * * * * * * * * *	440.000.00	400.00	***
		specified Furnish and install 18"	Linear Feet	280.00	\$69.00	\$19,320.00	\$98.00	\$27,440.00
	2000	storm sewer; complete as						
	2009	-	Linna Fast	000.00	ф 7 4.00	¢(((00.00	¢100.00	¢00,000,00
		specified Furnish and install 21"	Linear Feet	900.00	\$74.00	\$66,600.00	\$100.00	\$90,000.00
	2012	storm sewer; complete as						
	2012	specified	Linear Feet	100.00	¢100.00	¢10,000,00	¢140.00	¢14 000 00
		specified	Linear Feet	100.00	\$108.00	\$10,800.00	\$140.00	\$14,000.00

Contract 23-08 - Arthur Ave	enue, Tyler Aven	ue, Coolidge Avenue, and B	auman Street Reco	onstruction (#83588	840)			
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	y of							
Bid Opening: 01/16/2023 13	1:00 AM CST							
					PTS Contract	tors, Inc	Carl Bowers & Sons	Const Co. Inc.
					4075 Eaton	Road		
					Green Bay, W	VI 54311		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 24"						
	2015	storm sewer; complete as						
		specified	Linear Feet	900.00	\$104.00	\$93,600.00	\$140.00	\$126,000.00
		Furnish and install 30"						
	2021	storm sewer; complete as						
		specified	Linear Feet	400.00	\$132.00	\$52,800.00	\$175.00	\$70,000.00
		Furnish and install 54"						
	2033	storm sewer; complete as						
		specified	Linear Feet	450.00	\$272.00	\$122,400.00	\$375.00	\$168,750.00
		Furnish and install 19" x						
	2047	30" HERCP Class III						
		storm sewer; complete as						
		specified	Linear Feet	420.00	\$118.00	\$49,560.00	\$160.00	\$67,200.00
		Furnish and install 48" x						
	2059	76" HERCP Class III						
		storm sewer; complete as	T: F.	200.00	#244.00	#102 2 00 00	Ф42F 00	ф120 F00 00
		specified	Linear Feet	300.00	\$344.00	\$103,200.00	\$435.00	\$130,500.00
		Furnish and install 53" x 83" HERCP Class III						
	2061							
		storm sewer; complete as specified	Linear Feet	330.00	\$392.00	\$129,360.00	\$520.00	\$171,600.00
		Furnish and install 19" x	Linear Feet	330.00	\$392.00	\$129,360.00	\$320.00	\$171,600.00
		30" RCP Class III apron						
	2155	endwall with joint ties;						
		complete as specified	Each	1.00	\$19,025.00	\$19,025.00	\$10,600.00	\$10,600.00
		Furnish and install 53" x	Euch	1.00	\$17,020.00	\$17,023.00	\$10,000.00	ψ10,000.00
		83" RCP Class III apron						
	2162	endwall with joint ties;						
		complete as specified	Each	1.00	\$25,845.00	\$25,845.00	\$16,000.00	\$16,000.00
		Furnish and install			4-0/0-0000	4=0/0 =0.000	4-0/00000	4-0,00000
		standard storm sewer						
	2201	manhole (4' diameter);						
		complete as specified	Vertical Feet	110.00	\$450.00	\$49,500.00	\$500.00	\$55,000.00
		Furnish and install			,,	1 . /	,,,,,,,,,	,,
		standard storm sewer						
	2202	manhole (5' diameter);						
		complete as specified	Vertical Feet	30.00	\$830.00	\$24,900.00	\$850.00	\$25,500.00

Contract 23-08 - Arthur Aver	nue, Tyler Avenı	ie, Coolidge Avenue, and B	auman Street Reco	nstruction (#835	8840)			
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11:	00 AM CST							
1 0								
					PTS Contr	actors, Inc	Carl Bowers & Son	ns Const Co. Inc.
					4075 Eato			
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install		~*******				
		standard storm sewer						
	2203	manhole (6' diameter);						
		complete as specified	Vertical Feet	10.00	\$990.00	\$9,900.00	\$950.00	\$9,500.00
		Furnish and install	verticarrect	10.00	φ220.00	ψ2,200.00	\$750.00	ψ2,300.00
		standard storm sewer						
	2205	manhole (8' diameter);						
		complete as specified	Vertical Feet	10.00	\$1,335.00	¢12.2E0.00	\$1,800.00	\$18,000.00
		Furnish and install	verticai reet	10.00	\$1,333.00	\$13,350.00	\$1,000.00	\$10,000.00
		standard storm sewer						
	2212	inlet manhole (4'						
	2213	· ·						
		diameter); complete as	77 (* 1E (4.00	# 72 0.00	#2.012.00	#c00.00	#2 400 00
		specified Furnish and install storm	Vertical Feet	4.00	\$728.00	\$2,912.00	\$600.00	\$2,400.00
	2225A	sewer junction chamber						
		X-35; complete as	- 1	1.00	44.00=00	44.400.00	400 000 00	400 000 00
		specified	Each	1.00	\$14,385.00	\$14,385.00	\$23,000.00	\$23,000.00
		Furnish and install storm						
	2225B	sewer junction chamber						
		Z-37; complete as						
		specified	Each	1.00	\$17,260.00	\$17,260.00	\$26,000.00	\$26,000.00
		Furnish and install storm						
	2225C	sewer junction chamber						
	22200	Z-39; complete as						
		specified	Each	1.00	\$14,050.00	\$14,050.00	\$23,000.00	\$23,000.00
		Furnish and install storm						
	2225D	sewer junction chamber						
	22230	Z-40; complete as						
		specified	Each	1.00	\$13,875.00	\$13,875.00	\$23,000.00	\$23,000.00
		Furnish and install storm						
	2225E	sewer junction chamber						
	222315	Z-41; complete as						
		specified	Each	1.00	\$13,260.00	\$13,260.00	\$22,000.00	\$22,000.00
		Furnish and install Type						
	2235	1 inlet (with 18" sump);						
		complete as specified	Each	4.00	\$3,175.00	\$12,700.00	\$2,700.00	\$10,800.00
		Furnish and install Type						
	2237	3 inlet (with 18" sump);						
		complete as specified	Each	40.00	\$2,585.00	\$103,400.00	\$2,700.00	\$108,000.00

Contract 23-08 - Arthur Ave	nue, Tyler Aveni	ie, Coolidge Avenue, and B	auman Street Reco	onstruction (#8358	3840)			
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
	1							
Bid Opening: 01/16/2023 11:	-00 AM CST							
Dia Opening. 01/10/2020 11:	100 71117 CO 1							
					PTS Contr	ractors Inc	Carl Bowers & So	ns Const Co. Inc
	+				4075 Eate		Call bowels & 50	iis colist co. Ilic.
	+				Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	nem Code	Furnish and install 6"	COLVI	Quantity	Onit Frice	Extension	Unit Frice	Extension
	2400	storm sewer lateral;						
	2400	complete as specified	T: F .	2 150 00	ΦE0.00	#10 C 0F0 00	Ø74.00	¢150,100,00
		Furnish and install storm	Linear Feet	2,150.00	\$59.00	\$126,850.00	\$74.00	\$159,100.00
	2404	sewer marker balls;						
	2404		F1-	135.00	\$41.00	ΦE E2E 00	\$30.00	¢4.0E0.00
		complete as specified Furnish and install storm	Each	135.00	\$41.00	\$5,535.00	\$30.00	\$4,050.00
	2406							
	2406	sewer clay dams;	г 1	66.00	Φ0.C 00	ΦΕ (Ε(OO	ф100 00	ФС COO OO
		complete as specified Furnish and install storm	Each	66.00	\$86.00	\$5,676.00	\$100.00	\$6,600.00
	2400	sewer lateral inlet;						
	2408	· ·	F1-	(F.00	¢010 00	¢50 (70 00	¢000 00	¢50,500,00
		complete as specified Storm lateral inlet	Each	65.00	\$918.00	\$59,670.00	\$900.00	\$58,500.00
	0.11.1							
	2414	adjustments; complete as	г 1	65.00	¢1.00	#CE 00	ф1E0.00	#0.7F0.00
		specified	Each	65.00	\$1.00	\$65.00	\$150.00	\$9,750.00
		Furnish; install; maintain;						
	2508	and remove Type D						
		modified inlet protection;	г 1	05.00	ф 7 1.00	ΦC 025 00	ф100 00	¢ο τ οο οο
		complete as specified	Each	85.00	\$71.00	\$6,035.00	\$100.00	\$8,500.00
		Sediment removal - Type						
	2510	D modified inlet						
		protection; complete as	Б. 1	05.00	#1.05	#00. 25	#10.00	фо г о оо
		specified	Each	85.00	\$1.05	\$89.25	\$10.00	\$850.00
		Furnish; install; maintain;						
	2512	and remove stone						
		tracking pad; complete as	Б. 1	2.00	#1.00	#2 00	ф0.01	#0.0 2
		specified	Each	2.00	\$1.00	\$2.00	\$0.01	\$0.02
		Furnish; install; maintain;						
	2516	and remove stone bag;	Б. 1	05.00	#10. 05	#0 51.25	#10.00	фо г о оо
		complete as specified	Each	85.00	\$10.25	\$871.25	\$10.00	\$850.00
		Furnish; install; maintain;						
	2518	and remove 12" diameter						
		sediment logs; complete		200.00	***	49. 440.00	440.00	** *** ***
		as specified	Linear Feet	300.00	\$8.20	\$2,460.00	\$10.00	\$3,000.00
		Furnish; install; maintain;						
	2524	and remove dewatering						
		tank system; complete as	г 1	4.00	#1 00 l	#4.00	Φ4 F00 00	#10,000,00
		specified	Each	4.00	\$1.00	\$4.00	\$4,500.00	\$18,000.00

Contract 23-08 - Arthur Ave	enue, Tyler Avenu	ue, Coolidge Avenue, and B	auman Street Reco	nstruction (#83	58840)			
Owner: Oshkosh WI, City o	of	-						
Solicitor: Oshkosh WI, City								
, ,								
Bid Opening: 01/16/2023 11	:00 AM CST							
1 0								
				1	PTS Contr	ractors, Inc	Carl Bowers & So	ns Const Co. Inc.
				+		on Road		
				+	Green Bay			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish; install; maintain;		2				
		and remove turbidity						
	2526	barrier; complete as						
		specified	Each	3.00	\$4,315.00	\$12,945.00	\$5,500.00	\$16,500.00
		Furnish and install Class	Euch	5.50	ψ1,015.00	Ψ12,710.00	ψ5,500.00	\$10,000.00
		I; Urban; Type A erosion						
	2632	control mat; complete as						
		specified	Square Yards	400.00	\$2.05	\$820.00	\$3.00	\$1,200.00
		Furnish and install heavy	Square raius	400.00	Ψ2.03	φ020.00	фэ.00	\$1,200.00
	2650	rip-rap with filter fabric;						
	2030	complete as specified	Square Yards	75.00	\$85.00	\$6,375.00	\$125.00	\$9,375.00
		Abandon 8" - 12" storm	Square raids	75.00	φοσ.σσ	φ0,575.00	ψ125.00	Ψ2,573.00
	2800	sewer; complete as						
	2800	specified	Linear Feet	110.00	\$10.00	\$1,100.00	\$15.00	\$1,650.00
		Abandon 15" and larger	Linear reet	110.00	\$10.00	φ1,100.00	\$15.00	\$1,030.00
	2802	storm sewer; complete as						
	2002	specified	Linear Feet	800.00	\$16.00	\$12,800.00	\$20.00	\$16,000.00
		Remove 30" and smaller	Effical Teet	000.00	ψ10.00	Ψ12,000.00	Ψ20.00	\$10,000.00
	2804	storm sewer; complete as						
	2004	specified	Linear Feet	425.00	\$28.00	\$11,900.00	\$25.00	\$10,625.00
		Abandon storm sewer	Effical Teet	425.00	Ψ20.00	ψ11,700.00	Ψ23.00	\$10,025.00
	2810	manholes and inlets;						
	2010	complete as specified	Each	12.00	\$230.00	\$2,760.00	\$400.00	\$4,800.00
		Remove storm sewer	Lucii	12.00	Ψ230.00	ΨΖ,7 00:00	φ400.00	ψ4,000.00
	2812	manholes and inlets;						
	2012	complete as specified	Each	12.00	\$230.00	\$2,760.00	\$500.00	\$6,000.00
		Connect to existing storm	Lacii	12.00	Ψ230.00	φ2,700.00	φ500.00	φο,000.00
	2850	sewer main; complete as						
	2630	specified	Each	8.00	\$1,850.00	\$14,800.00	\$800.00	\$6,400.00
		Connect to existing storm	Lucii	0.00	ψ1,030.00	ψ14,000.00	φοσο.σο	ψ0,400.00
	2852	sewer lateral; complete as						
	2032	specified	Each	2.00	\$190.00	\$380.00	\$200.00	\$400.00
		Connect lateral to	Lacii	2.00	ψ170.00	φ00.00	Ψ200.00	φ-200.00
		existing storm sewer						
	2854	main; complete as						
		specified	Each	2.00	\$230.00	\$460.00	\$400.00	\$800.00
	1	Connect to existing storm	Lucii	2.00	Ψ250.00	φ±00.00	ψ±00.00	ψουυ.υυ
	2856	sewer manhole; complete						
	2030	as specified	Each	2.00	\$390.00	\$780.00	\$500.00	\$1,000.00
		us specificu	Eacn	2.00	ф390.00	φ/ 80.00	.p300.00	\$1,000.00

Contract 23-08 - Arthur Ave	nue, Tyler Aven	ue, Coolidge Avenue, and B	auman Street Reco	onstruction (#83588	840)			
Owner: Oshkosh WI, City o		<u> </u>						
Solicitor: Oshkosh WI, City								
, ,								
Bid Opening: 01/16/2023 11	:00 AM CST							
or	1							
					PTS Contra	actors Inc	Carl Bowers & So	ns Const Co. Inc
					4075 Eato	·	can bowers a so	as const co. Inc.
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem code	Connect to existing storm	001111	Quantity	CHICTICC	Extension	Chierrice	Extension
	2858	sewer inlet; complete as						
	2030	specified	Each	2.00	\$390.00	\$780.00	\$500.00	\$1,000.00
		Storm sewer utility line	Euci	2.00	φονο.ου	ψ/ 00.00	φου.υυ	ψ1,000.00
	2914	opening (ULO); complete						
	2714	as specified	Each	5.00	\$1.00	\$5.00	\$600.00	\$3,000.00
		Excavation special	Euci	5.00	ψ1.00	φο.σο	φοσο.σο	ψ5,000.00
	2950	(storm); complete as						
	2,530	specified	Tons	150.00	\$1.00	\$150.00	\$15.00	\$2,250.00
		Furnish and install 8"	1013	150.00	ψ1.00	ψ130.00	ψ10.00	Ψ2,230.00
	3000	sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	2,730.00	\$133.00	\$363,090.00	\$134.00	\$365,820.00
		Furnish and install 10"	Efficial Teet	2,700.00	Ψ155.55	φοοσ,στο.σσ	Ψ101.00	φοσο,σ2σ.σσ
	3002	sanitary sewer (relay);						
	3002	complete as specified	Linear Feet	50.00	\$158.00	\$7,900.00	\$236.00	\$11,800.00
		Furnish and install 12"	Linear reet	30.00	\$130.00	\$7,700.00	\$250.00	\$11,000.00
	3004	sanitary sewer (relay);						
	3004	complete as specified	Linear Feet	955.00	\$169.00	\$161,395.00	\$244.00	\$233,020.00
		Furnish and install 15"	Effical Teet	255.00	ψ107.00	Ψ101,375.00	Ψ244.00	Ψ230,020.00
	3006	sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	15.00	\$481.00	\$7,215.00	\$257.00	\$3,855.00
		Furnish and install 18"	Effical Teet	15.00	ψ401.00	ψ1,210.00	Ψ207.00	ψ5,055.00
	3008	sanitary sewer (relay);						
	3006	complete as specified	Linear Feet	15.00	\$501.00	\$7,515.00	\$288.00	\$4,320.00
		Furnish and install 8"	Linear reet	13.00	\$301.00	Ψ7,313.00	Ψ200.00	ψ4,520.00
	3060	sanitary sewer drop;						
	3000	complete as specified	Vertical Feet	11.00	\$310.00	\$3,410.00	\$500.00	\$5,500.00
		Furnish and install 10"	vertical reet	11.00	ф310.00	\$3,410.00	\$300.00	φ3,300.00
	20/2	sanitary sewer drop;						
	3062	complete as specified	Vertical Feet	5.00	\$437.00	\$2,185.00	\$550.00	\$2,750.00
		Furnish and install	vertical reet	3.00	ψ±37.00	\$2,100.00	ф350.00	Ψ2,7 30.00
		standard sanitary sewer						
	3100	manhole (4' diameter);						
		complete as specified	Vertical Feet	189.00	\$425.00	¢\$0.225.00	\$450.00	\$85,050,00
		Furnish and install	Vertical Feet	109.00	\$425.00	\$80,325.00	\$400.00	\$85,050.00
		sanitary sewer external						
	3114	manhole chimney seal;						
		complete as specified	Each	18.00	\$488.00	\$8,784.00	\$450.00	\$8,100.00
		complete as specified	Each	10.00	φ 4 00.00	ф0,704.00	φ±30.00	φο,100.00

Contract 23-08 - Arthur Aver	nue, Tyler Avenu	1e, Coolidge Avenue, and B	auman Street Reco	nstruction (#8358	3840)			
Owner: Oshkosh WI, City o	f							
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11:	00 AM CST							
1 0								
					PTS Contra	actors, Inc	Carl Bowers & Son	ns Const Co. Inc.
					4075 Eato			
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		sanitary sewer external						
	3116	manhole chimney seal						
		extension; complete as						
		specified	Each	2.00	\$385.00	\$770.00	\$425.00	\$850.00
		Pour and reshape						
	3160	manhole bench; complete						
		as specified	Each	1.00	\$2,240.00	\$2,240.00	\$1,000.00	\$1,000.00
		Furnish and install 8" x 6"						
		sanitary sewer factory						
	3210	wyes or tees; complete as						
		specified	Each	70.00	\$275.00	\$19,250.00	\$300.00	\$21,000.00
		Furnish and install 10" x						
	2212	6" sanitary sewer factory						
	3212	wyes or tees; complete as						
		specified	Each	1.00	\$326.00	\$326.00	\$350.00	\$350.00
		Furnish and install 12" x						
	2214	6" sanitary sewer factory						
	3214	wyes or tees; complete as						
		specified	Each	3.00	\$455.00	\$1,365.00	\$500.00	\$1,500.00
		Furnish and install 4"						
	2220	sanitary sewer laterals						
	3230	(new); complete as						
		specified	Linear Feet	70.00	\$107.00	\$7,490.00	\$103.00	\$7,210.00
		Furnish and install 4"/6"						
	3234	sanitary sewer lateral						
	3234	(relay); complete as						
		specified	Linear Feet	2,510.00	\$107.00	\$268,570.00	\$103.00	\$258,530.00
		Furnish and install 4"/6"						
	3235	sanitary sewer riser						
	3233	(relay); complete as						
		specified	Linear Feet	160.00	\$116.00	\$18,560.00	\$121.00	\$19,360.00
		Furnish and install						
	3236	sanitary sewer lateral						
	3230	marker balls; complete as						
		specified	Each	152.00	\$41.00	\$6,232.00	\$30.00	\$4,560.00
		Furnish and install clay						
	3238	dams; complete as						
		specified	Each	73.00	\$86.00	\$6,278.00	\$100.00	\$7,300.00

Description	
Bid Opening: 01/16/2023 11:00 AM CST	
PTS Contractors, Inc	
PTS Contractors, Inc	
PTS Contractors, Inc	-
Section Title Rem Code Rem Description UofM Quantity Unit Price Extension Unit P	
Section Title Rem Code Rem Description UofM Quantity Unit Price Extension Unit P	c.
Section Title Rem Code Rem Description UofM Quantity Unit Price Extension Unit P	-
Section Title Item Code Item Description Furnish and install connection to existing 8' sanitary sevure mains; complete as specified Each 1.00 \$1,325.00 \$1,205	-
Furnish and install connection to existing 8" sanitary sewer mains; complete as specified Each 1.00 \$1,325.00 \$1,225.00 \$1,200.00	ion
Sanitary sewer mains; complete as specified Each 1.00 \$1,325.00 \$1,325.00 \$1,200.00	-
Sanitary sewer mains; complete as specified Each 1.00 \$1,325.00 \$1,325.00 \$1,200.00	
Complete as specified Each 1.00 \$1,325.00 \$1,225.00 \$1,200.00	
Furnish and install connection to existing 10° sanitary sewer mains; complete as specified Each 3.00 \$1,345.00 \$4,035.00 \$1,600.00	\$1,200.00
Connection to existing 10" Sanitary sewer mains; Complete as specified Each 3.00 \$1,345.00 \$4,035.00 \$1,600.00	
Sanitary sewer mains; complete as specified Each 3.00 \$1,345.00 \$4,035.00 \$1,600.00	
Complete as specified Each 3.00 \$1,345.00 \$4,035.00 \$1,600.00	
Furnish and install connection to existing 15" sanitary sewer mains; complete as specified	\$4,800.00
Sanitary sewer mains; complete as specified Each 1.00 \$2,475.00 \$2,475.00 \$2,000.00	4 3/000100
Sanitary sewer mains; complete as specified Each 1.00 \$2,475.00 \$2,475.00 \$2,000.00	
Complete as specified Each 1.00 \$2,475.00 \$2,475.00 \$2,000.00	
Furnish and install connection to existing 18' sanitary sewer mains; complete as specified Each 2.00 \$3,165.00 \$6,330.00 \$2,500.00 \$13330 Euch Each 2.00 \$3,165.00 \$6,330.00 \$2,500.00 \$13330 Euch Each 2.00 \$1.00 \$2.00 \$500.00 \$1.	\$2,000.00
Sanitary sewer mains; complete as specified Each 2.00 \$3,165.00 \$6,330.00 \$2,500.00	
Sanitary sewer mains; complete as specified Each 2.00 \$3,165.00 \$6,330.00 \$2,500.00	
Complete as specified Each 2.00 \$3,165.00 \$6,330.00 \$2,500.00	
Furnish and install sanitary sewer concrete collars; complete as specified Each 2.00 \$1.00 \$2.00 \$500.00	\$5,000.00
Sanitary sewer concrete collars; complete as specified Each 2.00 \$1.00 \$2.00 \$500.00	40,000.00
Samitary sewer open cut casing pipes; complete as specified Linear Feet 15.00 \$200.00 \$3,000.00 \$3,000.00 \$3,000.00 \$250.00 \$250.00 \$3,000.00	
Specified Each 2.00 \$1.00 \$2.00 \$500.00	
Core into existing manhole; complete as specified Each 1.00 \$8,705.00 \$8,705.00 \$1,000.00	\$1,000.00
3332 manhole; complete as specified Each 1.00 \$8,705.00 \$8,705.00 \$1,000.00	\$2,000.00
Specified Each 1.00 \$8,705.00 \$8,705.00 \$1,000.00	
Furnish and install 10" sanitary sewer open cut casing pipes; complete as specified Linear Feet 120.00 \$108.00 \$12,960.00 \$150.00 Furnish and install 18" sanitary sewer open cut casing pipes; complete as specified Linear Feet 15.00 \$200.00 \$3,000.00 \$250.00	\$1,000.00
Sanitary sewer open cut casing pipes; complete as specified Linear Feet 120.00 \$108.00 \$12,960.00 \$150.00	4-,000
casing pipes; complete as specified Linear Feet 120.00 \$108.00 \$12,960.00 \$150.00 Furnish and install 18" sanitary sewer open cut casing pipes; complete as specified Linear Feet 15.00 \$200.00 \$3,000.00 \$250.00	
specified Linear Feet 120.00 \$108.00 \$12,960.00 \$150.00	
Furnish and install 18" sanitary sewer open cut casing pipes; complete as specified Linear Feet 15.00 \$200.00 \$3,000.00 \$250.00	\$18,000.00
sanitary sewer open cut casing pipes; complete as specified Linear Feet 15.00 \$200.00 \$3,000.00 \$250.00	410,000.00
3410 casing pipes; complete as specified Linear Feet 15.00 \$200.00 \$3,000.00 \$250.00	
specified Linear Feet 15.00 \$200.00 \$3,000.00 \$250.00	
	\$3,750.00
Furnish and install 24"	40,00000
sanitary sewer open cut	
casing pipes; complete as	
specified Linear Feet 15.00 \$215.00 \$3,225.00 \$270.00	\$4,050.00
Rock excavation:	+ -, - 30.00
3600 complete as specified Cubic Yards 25.00 \$1.00 \$25.00 \$0.01	\$0.25
Closed circuit televising:	
3700 complete as specified Linear Feet 3,765.00 \$1.30 \$4,894.50 \$2.00	\$7,530.00

Contract 23-08 - Arthur Av	enue, Tyler Aven	ue, Coolidge Avenue, and B	auman Street Reco	onstruction (#8358	8840)			
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
Bid Opening: 01/16/2023 1	1:00 AM CST							
					PTS Contrac	ctors, Inc	Carl Bowers & Son	s Const Co. Inc.
					4075 Eator	n Road		
					Green Bay, V	WI 54311		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Closed circuit televising -						
	3710	using push camera;						
		complete as specified	Each	4.00	\$155.00	\$620.00	\$250.00	\$1,000.00
		Abandon sanitary sewer						
	3800	manholes; complete as						
		specified	Each	6.00	\$575.00	\$3,450.00	\$400.00	\$2,400.00
		Abandon 8" sanitary						
	3802	sewer; complete as						
		specified	Linear Feet	618.50	\$13.00	\$8,040.50	\$20.00	\$12,370.00
		Abandon 10" sanitary						
	3804	sewer; complete as						
		specified	Linear Feet	915.00	\$16.00	\$14,640.00	\$25.00	\$22,875.00
		Abandon 12" sanitary						
	3806	sewer; complete as						
		specified	Linear Feet	28.70	\$25.00	\$717.50	\$30.00	\$861.00
		Abandon 18" sanitary						
	3810	sewer; complete as						
		specified	Linear Feet	56.20	\$30.00	\$1,686.00	\$40.00	\$2,248.00
		Remove sanitary sewer						
	3852	manholes; complete as						
		specified	Each	1.00	\$575.00	\$575.00	\$800.00	\$800.00
	3854	Remove sanitary sewer;		101.00	404.00	AT 614 00	400.00	h= 120 00
		complete as specified	Linear Feet	181.00	\$31.00	\$5,611.00	\$30.00	\$5,430.00
		Sanitary sewer utility line						
	3890	opening (ULO); complete	Б. 1	4.00	#1.00	# 4.00	#c00.00	# 2 400 00
		as specified	Each	4.00	\$1.00	\$4.00	\$600.00	\$2,400.00
		Excavation special						
	3892	(sanitary); complete as	T	70.00	¢1.00	# 7 0.00	¢15.00	¢1.050.00
		specified Furnish and install 6"	Tons	70.00	\$1.00	\$70.00	\$15.00	\$1,050.00
	4002	ductile iron water main						
		(relay) with polywrap;	T: F .	200.00	#10F 00	#20 400 00	#1FF 00	¢42,400,00
		complete as specified Furnish and install 8"	Linear Feet	280.00	\$105.00	\$29,400.00	\$155.00	\$43,400.00
		ductile iron water main						
	4004	(relay) with polywrap;						
		complete as specified	Linear Feet	3,250.00	\$117.00	\$380,250.00	\$138.00	¢448 500 00
		complete as specified	Linear reet	3,230.00	\$117.00	\$300,230.00	\$138.00	\$448,500.00

Contract 23-08 - Arthur Aver	nue, Tyler Avenı	ıe, Coolidge Avenue, and B	Sauman Street Reco	onstruction (#8358	8840)			
Owner: Oshkosh WI, City o	ıf							
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11:	:00 AM CST							
8				1				
					PTS Contra	actors Inc	Carl Bowers & So	ns Const Co. Inc
					4075 Eato		cuit bowers a so	as const co. Inc.
				+				
C C T'd	Ti C 1	II D ' '	11 () (0 "	Green Bay,		II 't D '	F ('
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 12"						
	4008	ductile iron water main						
		(relay) with polywrap;						
		complete as specified	Linear Feet	40.00	\$170.00	\$6,800.00	\$175.00	\$7,000.00
		Furnish and install 1"						
	4036	water service (relay);						
		complete as specified	Linear Feet	2,400.00	\$88.00	\$211,200.00	\$82.00	\$196,800.00
		Furnish and install 1-1/4"						
	4037	water service (relay);						
		complete as specified	Linear Feet	55.00	\$97.00	\$5,335.00	\$85.00	\$4,675.00
		Furnish and install 1"						
	4042	water service (new);						
		complete as specified	Linear Feet	95.00	\$88.00	\$8,360.00	\$82.00	\$7 <i>,</i> 790.00
		Furnish and install 1"						
	4048	corporation and stop box;						
		complete as specified	Each	68.00	\$540.00	\$36,720.00	\$600.00	\$40,800.00
		Furnish and install 1-1/4"						
	4050	corporation and stop box;						
		complete as specified	Each	1.00	\$1,050.00	\$1,050.00	\$1,200.00	\$1,200.00
		Furnish and install water						
	4055	service clay dams;						
	1000	complete as specified	Each	69.00	\$85.00	\$5,865.00	\$100.00	\$6,900.00
		Furnish and install			40000	42,000.00	4	4 0,5 0 0 0 0
		connections to existing 6"						
	4058	water main; complete as						
		specified	Each	8.00	\$2,025.00	\$16,200.00	\$1,800.00	\$14,400.00
		Furnish and install	Lucii	0.00	φ2,020.00	\$10,200.00	\$1,000.00	\$14,400.00
		connections to existing 8"						
	4060	water main; complete as						
		specified	Each	1.00	\$2,690.00	\$2,690.00	\$2,000.00	\$2,000.00
		Furnish and install	Each	1.00	\$2,090.00	\$2,690.00	\$2,000.00	\$2,000.00
	4064	connections to existing						
		12" water main; complete	г	2.00	#2 FF0 00	#11 25 0 00	# 2 000 00	#0.400.00
	-	as specified	Each	3.00	\$3,750.00	\$11,250.00	\$2,800.00	\$8,400.00
		Furnish and install 6" x 6"						
	4101	water main tee; complete						
		as specified	Each	1.00	\$490.00	\$490.00	\$530.00	\$530.00
		Furnish and install 8" x 6"						
	4110	water main tee; complete						
		as specified	Each	5.00	\$690.00	\$3,450.00	\$720.00	\$3,600.00

Contract 23-08 - Arthur Av	enue, Tyler Aven	ue, Coolidge Avenue, and Ba	uman Street Rec	construction (#83588	340)			
Owner: Oshkosh WI, City					,			
Solicitor: Oshkosh WI, Cit								
	,							
Bid Opening: 01/16/2023 1	1:00 AM CST							
Dia Opening. 01/10/2020 1	1.00 /11/1 CO /							
					PTS Contrac	store Inc	Carl Bowers & Sons	Const Co. Inc
					4075 Eaton		Call bowels & 30lls	const co. mc.
C t' T'tl	TI C 1	T(D ' ('	TI () (0 11	Green Bay, W		TI 't D '	E. C.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 8" x 8"						
	4111	water main tee; complete	F 1	2.00	ф то	#2.155.00	4505.00	#2 20E 00
		as specified	Each	3.00	\$725.00	\$2,175.00	\$735.00	\$2,205.00
		Furnish and install 12" x						
	4129	8" water main tee;						
		complete as specified	Each	1.00	\$1,135.00	\$1,135.00	\$1,150.00	\$1,150.00
		Furnish and install 6" x 8"						
	4182	water main cross;						
		complete as specified	Each	1.00	\$915.00	\$915.00	\$900.00	\$900.00
		Furnish and install 8"						
	4219	11-1/4 degree water main						
	4217	bend; complete as						
		specified	Each	2.00	\$415.00	\$830.00	\$450.00	\$900.00
		Furnish and install 8"						
	4228	22-1/2 degree water main						
	4220	bend; complete as						
		specified	Each	3.00	\$430.00	\$1,290.00	\$470.00	\$1,410.00
		Furnish and install 6" 45						
	4236	degree water main bend;						
		complete as specified	Each	27.00	\$335.00	\$9,045.00	\$330.00	\$8,910.00
		Furnish and install 8" 45						
	4237	degree water main bend;						
		complete as specified	Each	11.00	\$435.00	\$4,785.00	\$420.00	\$4,620.00
		Furnish and install 12" 45						
	4239	degree water main bend;						
		complete as specified	Each	4.00	\$900.00	\$3,600.00	\$935.00	\$3,740.00
		Furnish and install 6"						
	4254	water main cap; complete						
		as specified	Each	1.00	\$186.00	\$186.00	\$260.00	\$260.00
		Furnish and install 8"						
	4255	water main cap; complete						
		as specified	Each	1.00	\$260.00	\$260.00	\$330.00	\$330.00
		Furnish and install 8" x 6"			4=	4=	444444	4010.00
	4264	water main reducer;						
	1201	complete as specified	Each	7.00	\$380.00	\$2,660.00	\$420.00	\$2,940.00
		Cut and cap existing 6"	Zucii	7.00	ψοσο.σσ	Ψ2,000.00	φ120.00	Ψ2,710.00
	4352	water main; complete as						
	4332	specified	Each	2.00	\$1,315.00	\$2,630.00	\$800.00	\$1,600.00
		оресписа	Latti	2.00	\$1,515.00	\$2,030.00	φου.υυ	\$1,000.00

Contract 23-08 - Arthur Ave	enue, Tyler Avenu	1e, Coolidge Avenue, and B	auman Street Reco	onstruction (#8358	8840)			
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
, , ,								
Bid Opening: 01/16/2023 11	:00 AM CST							
214 Opening. 01/10/2020 11	11111 651							
					PTS Contr	actors Inc	Carl Bowers & So	ns Const Co. Inc
				+	4075 Eate		Call bowels & 50	iis colist co. Inc.
C t' T'd	Tr. C. 1	T(D ' ('	II () (0 "	Green Bay,		II '(D'	Г
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	40=4	Cut and cap existing 8"						
	4354	water main; complete as						
		specified	Each	2.00	\$1,390.00	\$2,780.00	\$900.00	\$1,800.00
		Cut and cap existing 12"						
	4358	water main; complete as						
		specified	Each	2.00	\$2,105.00	\$4,210.00	\$1,000.00	\$2,000.00
		Furnish and install 6"						
	4401	water main gate valve;						
		complete as specified	Each	9.00	\$1,965.00	\$17,685.00	\$2,050.00	\$18,450.00
		Furnish and install 8"						
	4402	water main gate valve;						
		complete as specified	Each	15.00	\$2,710.00	\$40,650.00	\$2,900.00	\$43,500.00
		Furnish and install 12"						
	4404	water main gate valve;						
		complete as specified	Each	2.00	\$4,775.00	\$9,550.00	\$5,000.00	\$10,000.00
		Furnish and install 12" x						
		8" tapping valve and						
	4447	sleeve; complete as						
		specified	Each	1.00	\$6,365.00	\$6,365.00	\$4,500.00	\$4,500.00
		Furnish and install						
	4500	hydrant; complete as						
		specified	Each	7.00	\$5,600.00	\$39,200.00	\$5,800.00	\$40,600.00
		Furnish and install 2"						
	4712	water main casing pipe;						
		complete as specified	Linear Feet	110.00	\$36.00	\$3,960.00	\$100.00	\$11,000.00
		Furnish and install 16"				. ,	·	. ,
	4724	water main casing pipe;						
	1,21	complete as specified	Linear Feet	30.00	\$205.00	\$6,150.00	\$250.00	\$7,500.00
		Remove water main;			4_0000	4-7	4	41,41111
	4920	complete as specified	Linear Feet	515.00	\$22.00	\$11,330.00	\$25.00	\$12,875.00
		Excavation special			4	+,	4-2111	422,01010
	4990	(water); complete as						
	4770	specified	Tons	70.00	\$1.00	\$70.00	\$100.00	\$7,000.00
		Bentonite slurry dam	10115	70.00	\$1.00	\$70.00	Ψ100.00	Ψ7,000.00
	4992	(water); complete as						
	4992	specified	Each	5.00	\$1.00	\$5.00	\$15.00	\$75.00
		Furnish and install pull	LaCII	5.00	\$1.00	\$3.00	\$10.00	\$75.00
		box (non-conductive); 18"						
	5013	x 36"; complete as						
		specified	Fa -1-	22.00	ф1 707 00	ΦEO 201 00	¢1 750 00	ØE7 7E0 00
		specified	Each	33.00	\$1,797.00	\$59,301.00	\$1,750.00	\$57,750.00

Contract 23-08 - Arthur Aver	nue, Tyler Avent	ue, Coolidge Avenue, and B	auman Street Reco	onstruction (#83588	340)			
Owner: Oshkosh WI, City of	f							
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11:	00 AM CST							
1 0								
					PTS Contra	actors. Inc	Carl Bowers & So	ns Const Co. Inc.
					4075 Eato			
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install pull		2			2	
		box - non-conductive; 24"						
	5019	x 42"; complete as						
		specified	Each	5.00	\$2,660.00	\$13,300.00	\$1,850.00	\$9,250.00
		Adjust pull box; complete			4-/******	4-2/20000	4-/	41,2000
	5025	as specified	Each	37.00	\$1.00	\$37.00	\$5.00	\$185.00
		Install CITY-supplied			,	,	*****	,
	5051	lighting control cabinet;						
	5001	complete as specified	Each	1.00	\$2,055.00	\$2,055.00	\$2,000.00	\$2,000.00
		Install electrical service;			, ,	, , , , , , , , , , , , , , , , , , , ,	, , , , , , , , , , , , , , , , , , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	5054	complete as specified	Each	1.00	\$2,310.00	\$2,310.00	\$2,250.00	\$2,250.00
		Furnish and install 2"			. ,			. ,
	5120	Schedule 40 PVC;						
		complete as specified	Linear Feet	3,280.00	\$10.25	\$33,620.00	\$10.00	\$32,800.00
		Furnish and install 3"		, i	·		·	
	5130	Schedule 40 PVC;						
		complete as specified	Linear Feet	2,900.00	\$14.40	\$41,760.00	\$14.00	\$40,600.00
		3" Schedule 80 PVC Bore;						
		including Bore Pits and						
	5170	Utility Line Openings;						
		complete as specified	Linear Feet	260.00	\$2.55	\$663.00	\$2.50	\$650.00
		Furnish and install 4						
	5230	gauge red-coated wire;						
		complete as specified	Linear Feet	8,490.00	\$2.55	\$21,649.50	\$2.50	\$21,225.00
		Furnish and install 4						
	5231	gauge black-coated wire;						
		complete as specified	Linear Feet	8,490.00	\$2.55	\$21,649.50	\$2.50	\$21,225.00
		Furnish and install 8						
	5252	gauge green-coated wire;						
		complete as specified	Linear Feet	6,835.00	\$1.55	\$10,594.25	\$1.50	\$10,252.50
		Furnish and install 12						
	5270	gauge red-coated wire;						
		complete as specified	Linear Feet	1,440.00	\$0.85	\$1,224.00	\$0.80	\$1,152.00
		Furnish and install 12						
	5271	gauge black-coated wire;						
		complete as specified	Linear Feet	1,440.00	\$0.85	\$1,224.00	\$0.80	\$1,152.00
		Furnish and install 12	<u> </u>					
	5272	gauge green-coated wire;						
		complete as specified	Linear Feet	1,440.00	\$0.85	\$1,224.00	\$0.80	\$1,152.00

Contract 23-08 - Arthur Av	enue, Tyler Aven	ue, Coolidge Avenue, and Ba	auman Street Reco	onstruction (#83	58840)			
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
Bid Opening: 01/16/2023 1	1:00 AM CST							
					PTS Contr	ractors, Inc	Carl Bowers & So	ns Const Co. Inc.
					4075 Eat	on Road		
					Green Bay	, WI 54311		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install fuse						
	5380	holder; complete as						
		specified	Each	72.00	\$56.50	\$4,068.00	\$55.00	\$3,960.00
		Furnish and install 2A						
	5386	fuse; complete as						
		specified	Each	72.00	\$5.15	\$370.80	\$5.00	\$360.00
		Install CITY-supplied 20'						
	5452	tapered pole with						
	3432	transformer base;						
		complete as specified	Each	36.00	\$565.00	\$20,340.00	\$550.00	\$19,800.00
		Install CITY-supplied 10'						
	5458	truss-type luminaire arm;						
		complete as specified	Each	36.00	\$359.00	\$12,924.00	\$350.00	\$12,600.00
		Install CITY-supplied						
	5470	cobra head luminaire;						
		complete as specified	Each	36.00	\$205.00	\$7,380.00	\$200.00	\$7,200.00
		Furnish and install Type						
	5504	5 base; complete as						
		specified	Each	36.00	\$1,001.00	\$36,036.00	\$975.00	\$35,100.00
		Furnish and install Type						
	5506	9 base; complete as						
		specified	Each	1.00	\$2,055.00	\$2,055.00	\$2,000.00	\$2,000.00
Bid Total:						\$5,678,000.00		\$6,140,823.32

Contract 23-08 - Arthur Ave	enue, Tyler Avent	1e, Coolidge Avenue, and E	Sauman Street Reco	nstruction (#8				
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11	1:00 AM CST							
					Dorne	er Inc.	David Tenor	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1						\$6,197,329.85		\$6,692,430.80
	1010	Clearing; complete as						
	1010	specified	Stations	2.00	\$3,167.00	\$6,334.00	\$3,060.00	\$6,120.00
	1011	Clearing; complete as						
	1011	specified	Inch Diameter	460.00	\$15.80	\$7,268.00	\$15.30	\$7,038.00
	1020	Grubbing; complete as						
		specified	Stations	2.00	\$3,167.00	\$6,334.00	\$3,060.00	\$6,120.00
	1021	Grubbing; complete as						
		specified	Inch Diameter	460.00	\$10.60	\$4,876.00	\$10.20	\$4,692.00
	1050	Mobilization; complete as		1.00	#25E 000 00	#255 000 00	#222 (10.00	#222 c10 00
		specified	Lump Sum	1.00	\$357,000.00	\$357,000.00	\$322,610.00	\$322,610.00
	1100	Removing pavement; complete as specified	C V1-	F 400 00	¢1.00	¢5 724 00	¢1.02	ΦΕ Ε (2 00
		Removing curb and	Square Yards	5,400.00	\$1.06	\$5,724.00	\$1.03	\$5,562.00
	1110	gutter; complete as						
	1110	specified	Linear Feet	2,050.00	\$1.10	\$2,255.00	\$1.03	\$2,111.50
		Removing concrete	Linear reet	2,030.00	ψ1.10	φ2,233.00	ψ1.05	Ψ2,111.50
		and asphalt sidewalk and						
	1120	driveway; complete as						
		specified	Square Feet	45,000.00	\$0.60	\$27,000.00	\$0.62	\$27,900.00
		Unclassified excavation;	oquare reer	10,000.00	40.00	\$27,000.00	Ų0.02	<i>\$27,500.00</i>
	1200	complete as specified	Cubic Yards	5,500.00	\$19.00	\$104,500.00	\$18.50	\$101,750.00
		Excavation special		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	* * * * * * * * * * * * * * * * * * * *	, , , , , , , , , , , , , , , , , , , ,	,	, , , , , , , , , , , , , , , , , , , ,
	1220	(paving); complete as						
		specified	Tons	925.00	\$0.01	\$9.25	\$0.01	\$9.25
		Sediment storage area;						
	1225	complete as specified	Lump Sum	1.00	\$50,000.00	\$50,000.00	\$185,500.00	\$185,500.00
		Dredge material; load;	_					
	1006	transport; and dispose of						
	1226	dewatered sediment;						
		complete as specified	Cubic Yards	250.00	\$85.00	\$21,250.00	\$210.00	\$52,500.00
		7" concrete pavement;						
	1301	with 5" CABC and						
	1301	grading; complete as						
		specified	Square Yards	10,500.00	\$48.20	\$506,100.00	\$46.55	\$488,775.00
		7" concrete pavement						
	1303	HES; with 5" CABC and						
	1555	grading; complete as						
		specified	Square Yards	1,200.00	\$52.40	\$62,880.00	\$50.65	\$60,780.00

Contract 23-08 - Arthur Ave	enue, Tyler Aven	ue, Coolidge Avenue, and B	Sauman Street Reco	onstruction (#8				
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
, , ,	, -							
Bid Opening: 01/16/2023 11	1:00 AM CST							
Dia opening. 01/10/2020 11	1.00 11.11 CO 1							
				+	Dorne	* Inc	David Tenor	Corneration
					Done	i iic.	Daviu Telioi	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		8" concrete pavement						
	1212	HES; with 6" CABC and						
	1313	grading; complete as						
		specified	Square Yards	850.00	\$71.10	\$60,435.00	\$68.70	\$58,395.00
	1004	Concrete pavement gaps;						
	1334	complete as specified	Each	2.00	\$1,056.00	\$2,112.00	\$10.50	\$21.00
		Crushed aggregate base						
	1340	course; complete as						
		specified	Tons	2,150.00	\$7.40	\$15,910.00	\$7.15	\$15,372.50
		Pavement ties; complete						
	1350	as specified	Each	85.00	\$10.60	\$901.00	\$10.25	\$871.25
		Drilled dowel bars; 1";						
	1352	complete as specified	Each	30.00	\$13.70	\$411.00	\$13.30	\$399.00
		Drilled dowel bars; 1 1/4";			·			
	1354	complete as specified	Each	310.00	\$16.90	\$5,239.00	\$16.35	\$5,068.50
		Adjust manholes and			·	. ,		. ,
	1360	inlets; complete as						
	1500	specified	Each	100.00	\$668.00	\$66,800.00	\$340.00	\$34,000.00
		Turf restoration;			,	1.1,1111	4.	4. /
	1370	complete as specified	Square Yards	13,750.00	\$9.00	\$123,750.00	\$10.30	\$141,625.00
		Restore gravel driveway/	- 1		4,100	4-2-7, 0 0 0 0 0	42000	+,·
	1372	apron; complete as						
	1372	specified	Square Yards	150.00	\$24.30	\$3,645.00	\$23.00	\$3,450.00
		Cold weather covering	oquare raras	100.00	\$2100	φο,ο 10.00	\$ 20.00	40/100100
		(concrete pavement) -						
	1380	single visquine; complete						
		as specified	Square Yards	1,875.00	\$0.01	\$18.75	\$0.01	\$18.75
		Cold weather covering	Square rares	1,07 5.00	ψ0.01	Ψ10.7.5	ψ0.01	ψ10.75
		(concrete pavement) -						
	1382	double visquine;						
		complete as specified	Square Yards	1,875.00	\$0.01	\$18.75	\$0.01	\$18.75
		Up-charge for late season	oquare raids	1,075.00	Φ0.01	\$10.73	Φ0.01	\$10.73
		cold weather concrete						
	1390	pavement; complete as						
		specified	Culsis Vand	275 00	¢10.40	#2 OFF 00	¢10.0E	¢2.042.7E
		*	Cubic Yards	375.00	\$10.60	\$3,975.00	\$10.25	\$3,843.75
		12" radius curb with 6"						
	1410	CABC and grading;	T. T.	F00.00	#14.00	#10.040.00	#4.33	#40.040.00
		complete as specified	Linear Feet	700.00	\$14.80	\$10,360.00	\$14.30	\$10,010.00

Contract 23-08 - Arthur Ave	enue, Tyler Aven	ue, Coolidge Avenue, and B	auman Street Reco	onstruction (#8				
Owner: Oshkosh WI, City		-						
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11	1:00 AM CST							
					Dorner Inc.		David Tenor	Corporation
								•
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		30" curb and gutter; 7";						
	1440	with 5" CABC and						
	1440	grading; complete as						
		specified	Linear Feet	150.00	\$42.20	\$6,330.00	\$41.00	\$6,150.00
	1460	Sidewalk curb; complete						
	1400	as specified	Linear Feet	400.00	\$37.00	\$14,800.00	\$35.75	\$14,300.00
		4" concrete sidewalk with						
	1500	3" CABC and grading;						
		complete as specified	Square Feet	31,500.00	\$7.70	\$242,550.00	\$7.20	\$226,800.00
		6" concrete sidewalk/						
	1510	driveway/ramp with 3"						
	1310	CABC and grading;						
		complete as specified	Square Feet	20,000.00	\$8.30	\$166,000.00	\$8.00	\$160,000.00
		6" concrete sidewalk/						
		driveway/ramp (HES)						
	1514	with 3" CABC and						
		grading; complete as						
		specified	Square Feet	6,200.00	\$8.70	\$53,940.00	\$8.42	\$52,204.00
	1530	6" concrete step;						
	1000	complete as specified	Square Feet	425.00	\$63.30	\$26,902.50	\$61.20	\$26,010.00
		Curb ramp detectable						
	1540	warning field (natural/						
	1010	non-painted); complete						
		as specified	Square Feet	530.00	\$33.80	\$17,914.00	\$32.65	\$17,304.50
		No. 4 reinforcing rods -						
	1550	deformed; epoxy-coated;						
		complete as specified	Linear Feet	6,000.00	\$1.80	\$10,800.00	\$1.79	\$10,740.00
		Drilled No. 4 sidewalk tie						
	1560	bars - deformed; epoxy-						
		coated; complete as	г	515.00	45.00	42.007.00	Φ= 61	Φ 2 000 4 5
		specified	Each	515.00	\$5.80	\$2,987.00	\$5.61	\$2,889.15
		Cold weather covering						
	1580	(sidewalk) - single visquine; complete as						
		specified	C F .	0.500.00	00.74	#	фо. 7 1	#C 025 00
			Square Feet	8,500.00	\$0.74	\$6,290.00	\$0.71	\$6,035.00
		Cold weather covering (sidewalk) - double						
	1582	visquine; complete as						
		specified	Cauar- Et	9 E00 00	φ1 O.C	ΦΩ Ω1Ω ΩΩ	#1.01	#0 E0E 00
		specified	Square Feet	8,500.00	\$1.06	\$9,010.00	\$1.01	\$8,585.00

Contract 23-08 - Arthur Aven	ue, Tyler Avenu	ıe, Coolidge Avenue, and B	auman Street Reco	nstruction (#8				
Owner: Oshkosh WI, City of	:							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 01/16/2023 11:0	00 AM CST							
					Dorner 1	Inc.	David Tenor C	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem coue	Up-charge for late season	COLVI	Quantity	Chit Trice	Extension	Oilli Trice	Extension
		cold weather concrete						
	1590	sidewalk; complete as						
		specified	Cubic Yards	130.00	\$21.10	\$2,743.00	\$20.40	\$2,652.00
		Furnish and install tree;					·	
	1600	complete as specified	Each	22.00	\$581.00	\$12,782.00	\$790.00	\$17,380.00
		Locate existing property						
	1650	monuments; complete as						
		specified	Each	50.00	\$39.00	\$1,950.00	\$39.00	\$1,950.00
	1651	Replace section corner;						
	1001	complete as specified	Each	1.00	\$528.00	\$528.00	\$550.00	\$550.00
		Replace existing property						
	1652	monuments; complete as	- 1		#=0.00	42 =00 00	450.00	40 500 00
		specified Sawing existing	Each	50.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00
	1700	pavement; complete as						
	1700	specified	Linear Feet	2,300.00	\$2.40	\$5,520.00	\$1.85	\$4,255.00
		Sawing concrete	Efficial Feet	2,500.00	Ψ2.10	ψ0,020.00	Ψ1.00	ψ1,200.00
	1710	pavement full depth;						
		complete as specified	Linear Feet	625.00	\$3.20	\$2,000.00	\$2.50	\$1,562.50
		Base aggregate dense;						
	1800	3/4"; complete as						
		specified	Tons	55.00	\$41.40	\$2,277.00	\$40.00	\$2,200.00
	1900	Tack coat; complete as						
	1500	specified	Gallons	260.00	\$4.00	\$1,040.00	\$8.35	\$2,171.00
		4" asphaltic pavement LT						
	1906	with 10" CABC and						
		grading; complete as specified	C V1-	025.00	¢49.20	¢44 E9E 00	¢EO CE	¢4€ 0E1 2E
		4" asphaltic transition LT	Square Yards	925.00	\$48.20	\$44,585.00	\$50.65	\$46,851.25
		with 10" CABC and						
	1911	grading; complete as						
		specified	Square Yards	2,500.00	\$61.40	\$153,500.00	\$48.60	\$121,500.00
		4" asphaltic surface LT	- 1	_,500.00	401.10	\$ 100,000.00	Ψ 10.00	\$121,000.00
		with 6" CABC and						
	1916	grading; complete as						
		specified	Square Yards	140.00	\$80.70	\$11,298.00	\$66.50	\$9,310.00

Contract 23-08 - Arthur Aver	nue, Tyler Avent	ue, Coolidge Avenue, and B	Sauman Street Reco	nstruction (#8				
Owner: Oshkosh WI, City o	f							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 01/16/2023 11:	00 AM CST							
					Dorner	Inc.	David Tenor	Corporation
								•
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		2" asphaltic surface LT						
	1017	with 6" CABC and						
	1917	grading; complete as						
		specified	Square Yards	300.00	\$34.10	\$10,230.00	\$41.00	\$12,300.00
		Asphaltic cold weather						
	1918	paving; complete as						
		specified	Square Yards	575.00	\$8.40	\$4,830.00	\$48.00	\$27,600.00
		Remove and replace						
	1971	chain link fence;						
		complete as specified	Linear Feet	100.00	\$67.00	\$6,700.00	\$58.00	\$5,800.00
		Pavement markings;						
	1974	epoxy; 4" (white);						
		complete as specified	Linear Feet	275.00	\$16.00	\$4,400.00	\$13.00	\$3,575.00
		Pavement markings;						
	1984	symbol; epoxy (white);	г. 1	1.00	#440.00	#440.00	#275 00	ф 27 5 00
		complete as specified	Each	1.00	\$449.00	\$449.00	\$275.00	\$275.00
		Temporary pavement markings; paint; 4"						
	1985	(white); complete as						
		specified	Linear Feet	40.00	\$5.00	\$200.00	\$6.00	\$240.00
		Furnish and install 10"	Linear reet	40.00	φ3.00	\$200.00	\$6.00	\$240.00
	2002	storm sewer; complete as						
	2002	specified	Linear Feet	30.00	\$75.00	\$2,250.00	\$100.00	\$3,000.00
		Furnish and install 12"	Ellical Teet	30.00	ψ/ 3.00	φ2,230.00	ψ100.00	ψ3,000.00
	2003	storm sewer; complete as						
	2000	specified	Linear Feet	850.00	\$63.00	\$53,550.00	\$84.00	\$71,400.00
		Furnish and install 12"			4.00.00	400/00000	40-100	41 -/
		RCP Class III storm						
	2004	sewer; complete as						
		specified	Linear Feet	60.00	\$68.00	\$4,080.00	\$84.00	\$5,040.00
		Furnish and install 15"						
	2006	storm sewer; complete as						
		specified	Linear Feet	280.00	\$68.00	\$19,040.00	\$93.00	\$26,040.00
		Furnish and install 18"						
	2009	storm sewer; complete as						
		specified	Linear Feet	900.00	\$83.00	\$74,700.00	\$104.00	\$93,600.00
		Furnish and install 21"						
	2012	storm sewer; complete as						
		specified	Linear Feet	100.00	\$99.00	\$9,900.00	\$135.00	\$13,500.00

Contract 23-08 - Arthur Ave	nue, Tyler Avenı	1e, Coolidge Avenue, and B	auman Street Reco	nstruction (#8				
Owner: Oshkosh WI, City o	ıf							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 01/16/2023 11:	:00 AM CST							
					Dorner	Inc.	David Tenor Co	rporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 24"						
	2015	storm sewer; complete as						
		specified	Linear Feet	900.00	\$117.00	\$105,300.00	\$149.00	\$134,100.00
		Furnish and install 30"						
	2021	storm sewer; complete as						
		specified	Linear Feet	400.00	\$135.00	\$54,000.00	\$180.00	\$72,000.00
		Furnish and install 54"						
	2033	storm sewer; complete as						
		specified	Linear Feet	450.00	\$299.00	\$134,550.00	\$347.00	\$156,150.00
		Furnish and install 19" x						
	2047	30" HERCP Class III						
	2017	storm sewer; complete as						
		specified	Linear Feet	420.00	\$108.00	\$45,360.00	\$145.00	\$60,900.00
		Furnish and install 48" x						
	2059	76" HERCP Class III						
		storm sewer; complete as						
		specified	Linear Feet	300.00	\$338.00	\$101,400.00	\$395.00	\$118,500.00
		Furnish and install 53" x						
	2061	83" HERCP Class III						
		storm sewer; complete as						
		specified	Linear Feet	330.00	\$402.00	\$132,660.00	\$485.00	\$160,050.00
		Furnish and install 19" x						
	2155	30" RCP Class III apron						
		endwall with joint ties;						
		complete as specified	Each	1.00	\$14,332.00	\$14,332.00	\$9,200.00	\$9,200.00
		Furnish and install 53" x						
	2162	83" RCP Class III apron						
		endwall with joint ties;						
		complete as specified	Each	1.00	\$17,517.00	\$17,517.00	\$8,500.00	\$8,500.00
		Furnish and install						
	2201	standard storm sewer						
		manhole (4' diameter);						
		complete as specified	Vertical Feet	110.00	\$617.00	\$67,870.00	\$670.00	\$73,700.00
		Furnish and install						
	2202	standard storm sewer						
		manhole (5' diameter);	** ** .	20.00	44 000 65	***	44 400 00	***
		complete as specified	Vertical Feet	30.00	\$1,092.00	\$32,760.00	\$1,100.00	\$33,000.00

Contract 23-08 - Arthur Aven	ue, Tyler Avent	ue, Coolidge Avenue, and B	auman Street Reco	nstruction (#8				
Owner: Oshkosh WI, City of		-						
Solicitor: Oshkosh WI, City	of							
Bid Opening: 01/16/2023 11:0	00 AM CST							
					Dorner	Inc.	David Tenor	Corporation
								_
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
	2202	standard storm sewer						
	2203	manhole (6' diameter);						
		complete as specified	Vertical Feet	10.00	\$1,322.00	\$13,220.00	\$1,295.00	\$12,950.00
		Furnish and install						
	2005	standard storm sewer						
	2205	manhole (8' diameter);						
		complete as specified	Vertical Feet	10.00	\$1,576.00	\$15,760.00	\$1,650.00	\$16,500.00
		Furnish and install						
		standard storm sewer						
	2213	inlet manhole (4'						
		diameter); complete as						
		specified	Vertical Feet	4.00	\$972.00	\$3,888.00	\$850.00	\$3,400.00
		Furnish and install storm						
		sewer junction chamber						
	2225A	X-35; complete as						
		specified	Each	1.00	\$16,293.00	\$16,293.00	\$26,200.00	\$26,200.00
		Furnish and install storm						
		sewer junction chamber						
	2225B	Z-37; complete as						
		specified	Each	1.00	\$19,843.00	\$19,843.00	\$29,250.00	\$29,250.00
		Furnish and install storm						
		sewer junction chamber						
	2225C	Z-39; complete as						
		specified	Each	1.00	\$15,912.00	\$15,912.00	\$26,200.00	\$26,200.00
		Furnish and install storm						
		sewer junction chamber						
	2225D	Z-40; complete as						
		specified	Each	1.00	\$15,718.00	\$15,718.00	\$26,000.00	\$26,000.00
		Furnish and install storm						
		sewer junction chamber						
	2225E	Z-41; complete as						
		specified	Each	1.00	\$14,812.00	\$14,812.00	\$25,000.00	\$25,000.00
		Furnish and install Type						
	2235	1 inlet (with 18" sump);						
		complete as specified	Each	4.00	\$3,456.00	\$13,824.00	\$3,400.00	\$13,600.00
		Furnish and install Type						· ·
	2237	3 inlet (with 18" sump);						
		complete as specified	Each	40.00	\$2,873.00	\$114,920.00	\$2,900.00	\$116,000.00

Contract 23-08 - Arthur Aver	nue, Tyler Avenı	ue, Coolidge Avenue, and B	auman Street Reco	onstruction (#8				
Owner: Oshkosh WI, City o		, ,						
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11:	00 AM CST							
Dia Opening. 01/10/2020 11.								
					Dorne	r Inc	David Tenor	Cornoration
					Done	i iic.	David Tellor	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"		2				
	2400	storm sewer lateral;						
	2100	complete as specified	Linear Feet	2,150.00	\$74.00	\$159,100.00	\$65.00	\$139,750.00
		Furnish and install storm			4	4/	40000	4-0-7, 0-0100
	2404	sewer marker balls;						
	2101	complete as specified	Each	135.00	\$4.00	\$540.00	\$50.00	\$6,750.00
		Furnish and install storm			4-100	40 -0000	4.0.00	40,0000
	2406	sewer clay dams;						
		complete as specified	Each	66.00	\$123.00	\$8,118.00	\$75.00	\$4,950.00
		Furnish and install storm			4	40/	4.0.00	4 -/
	2408	sewer lateral inlet;						
		complete as specified	Each	65.00	\$1,363.00	\$88,595.00	\$1,250.00	\$81,250.00
		Storm lateral inlet			. ,	. ,	. ,	. ,
	2414	adjustments; complete as						
		specified	Each	65.00	\$123.00	\$7,995.00	\$100.00	\$6,500.00
		Furnish; install; maintain;						
		and remove Type D						
	2508	modified inlet protection;						
		complete as specified	Each	85.00	\$116.00	\$9,860.00	\$125.00	\$10,625.00
		Sediment removal - Type						
	2=10	D modified inlet						
	2510	protection; complete as						
		specified	Each	85.00	\$21.00	\$1,785.00	\$32.00	\$2,720.00
		Furnish; install; maintain;						
	2512	and remove stone						
	2512	tracking pad; complete as						
		specified	Each	2.00	\$1,267.00	\$2,534.00	\$1,750.00	\$3,500.00
		Furnish; install; maintain;						
	2516	and remove stone bag;						
		complete as specified	Each	85.00	\$16.00	\$1,360.00	\$16.00	\$1,360.00
		Furnish; install; maintain;						
	2518	and remove 12" diameter						
	2316	sediment logs; complete						
		as specified	Linear Feet	300.00	\$13.00	\$3,900.00	\$13.00	\$3,900.00
		Furnish; install; maintain;						
	2524	and remove dewatering						
	2324	tank system; complete as						
		specified	Each	4.00	\$2,639.00	\$10,556.00	\$8,500.00	\$34,000.00

Owner: Oshkosh WI, City of Solicitor: Oshkosh WI, City of Bid Opening: 01/16/2023 11:00 AM CST Section Title Item Code Item Description UofM Quantity Unit Price Exter Furnish; install; maintain; and remove turbidity barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion control mat; complete as	ension \$39,708.00	David Tenor Unit Price	Corporation Extension
Solicitor: Oshkosh WI, City of Bid Opening: 01/16/2023 11:00 AM CST Dorner Inc. Section Title Item Code Item Description UofM Quantity Unit Price Exter Furnish; install; maintain; and remove turbidity barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion			-
Section Title Item Code Item Description UofM Quantity Unit Price Exter Furnish; install; maintain; and remove turbidity barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion			-
Section Title Item Code Item Description UofM Quantity Unit Price Exter Furnish; install; maintain; and remove turbidity barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion			-
Section Title Item Code Item Description UofM Quantity Unit Price Exter Furnish; install; maintain; and remove turbidity barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion			-
Section Title Item Code Item Description UofM Quantity Unit Price Exter Furnish; install; maintain; and remove turbidity barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion			-
Section Title Item Code Item Description UofM Quantity Unit Price Exter Furnish; install; maintain; and remove turbidity barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion			-
Furnish; install; maintain; and remove turbidity barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion		Unit Price	Extension
Furnish; install; maintain; and remove turbidity barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion		Unit Price	Extension
Furnish; install; maintain; and remove turbidity barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion			
barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion	\$39,708.00	Į.	
barrier; complete as specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion	\$39,708.00		
specified Each 3.00 \$13,236.00 Furnish and install Class I; Urban; Type A erosion	\$39,708.00		
Furnish and install Class I; Urban; Type A erosion	, ,	\$9,985.00	\$29,955.00
I; Urban; Type A erosion		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
7627			
specified Square Yards 400.00 \$5.30	\$2,120.00	\$5.25	\$2,100.00
Furnish and install heavy	42,22000	441=4	4-/
2650 rip-rap with filter fabric;			
complete as specified Square Yards 75.00 \$74.00	\$5,550.00	\$75.00	\$5,625.00
Abandon 8" - 12" storm	, , , , , , , , , , , , , , , , , , , ,	,	, , , , , , , , , , , , , , , , , , , ,
2800 sewer; complete as			
specified Linear Feet 110.00 \$8.00	\$880.00	\$7.00	\$770.00
Abandon 15" and larger	,	,	,
2802 storm sewer; complete as			
specified Linear Feet 800.00 \$19.00	\$15,200.00	\$25.00	\$20,000.00
Remove 30" and smaller			
2804 storm sewer; complete as			
specified Linear Feet 425.00 \$32.00	\$13,600.00	\$50.00	\$21,250.00
Abandon storm sewer		·	. ,
2810 manholes and inlets;			
complete as specified Each 12.00 \$364.00	\$4,368.00	\$500.00	\$6,000.00
Remove storm sewer			
2812 manholes and inlets;			
complete as specified Each 12.00 \$458.00	\$5,496.00	\$500.00	\$6,000.00
Connect to existing storm		-	
2850 sewer main; complete as			
specified Each 8.00 \$1,465.00	\$11,720.00	\$1,700.00	\$13,600.00
Connect to existing storm			
2852 sewer lateral; complete as			
specified Each 2.00 \$290.00	\$580.00	\$150.00	\$300.00
Connect lateral to		·	*
existing storm sewer			
2854 main; complete as			
specified Each 2.00 \$333.00	\$666.00	\$750.00	\$1,500.00
Connect to existing storm			
2856 sewer manhole; complete			
as specified Each 2.00 \$1,464.00	\$2,928.00	\$1,700.00	\$3,400.00

Contract 23-08 - Arthur Aver	ue, Tyler Aven	ue, Coolidge Avenue, and B	auman Street Reco	onstruction (#8				
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City								
, ,								
Bid Opening: 01/16/2023 11:	00 AM CST							
	1							
					Dorner	Inc	David Tenor	Corporation
					Domes		Duviu Tenor	corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Connect to existing storm		~ /				
	2858	sewer inlet; complete as						
		specified	Each	2.00	\$762.00	\$1,524.00	\$1,500.00	\$3,000.00
		Storm sewer utility line				. ,	. ,	. ,
	2914	opening (ULO); complete						
		as specified	Each	5.00	\$627.00	\$3,135.00	\$700.00	\$3,500.00
		Excavation special						
	2950	(storm); complete as						
		specified	Tons	150.00	\$20.00	\$3,000.00	\$35.00	\$5,250.00
		Furnish and install 8"				. ,	·	. ,
	3000	sanitary sewer (relay);						
		complete as specified	Linear Feet	2,730.00	\$145.00	\$395,850.00	\$159.00	\$434,070.00
		Furnish and install 10"		,	·	. ,	·	. ,
	3002	sanitary sewer (relay);						
		complete as specified	Linear Feet	50.00	\$136.00	\$6,800.00	\$335.00	\$16,750.00
		Furnish and install 12"			·	. ,	·	. ,
	3004	sanitary sewer (relay);						
		complete as specified	Linear Feet	955.00	\$230.00	\$219,650.00	\$207.00	\$197,685.00
		Furnish and install 15"						
	3006	sanitary sewer (relay);						
		complete as specified	Linear Feet	15.00	\$230.00	\$3,450.00	\$375.00	\$5,625.00
		Furnish and install 18"						
	3008	sanitary sewer (relay);						
		complete as specified	Linear Feet	15.00	\$262.00	\$3,930.00	\$410.00	\$6,150.00
		Furnish and install 8"						
	3060	sanitary sewer drop;						
		complete as specified	Vertical Feet	11.00	\$640.00	\$7,040.00	\$620.00	\$6,820.00
		Furnish and install 10"						
	3062	sanitary sewer drop;						
		complete as specified	Vertical Feet	5.00	\$864.00	\$4,320.00	\$685.00	\$3,425.00
		Furnish and install						
	2100	standard sanitary sewer						
	3100	manhole (4' diameter);						
		complete as specified	Vertical Feet	189.00	\$500.00	\$94,500.00	\$515.00	\$97,335.00
		Furnish and install						
	211	sanitary sewer external						
	3114	manhole chimney seal;						
		complete as specified	Each	18.00	\$501.00	\$9,018.00	\$485.00	\$8,730.00

Contract 23-08 - Arthur Ave	enue, Tyler Avenu	1e, Coolidge Avenue, and B	auman Street Reco	nstruction (#8				
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11	:00 AM CST							
1 0								
					Dorner	r Inc.	David Tenor	Corporation
								•
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		sanitary sewer external						
	3116	manhole chimney seal						
		extension; complete as						
		specified	Each	2.00	\$396.00	\$792.00	\$385.00	\$770.00
		Pour and reshape						
	3160	manhole bench; complete						
		as specified	Each	1.00	\$1,633.00	\$1,633.00	\$1,500.00	\$1,500.00
		Furnish and install 8" x 6"						
	3210	sanitary sewer factory						
	3210	wyes or tees; complete as						
		specified	Each	70.00	\$307.00	\$21,490.00	\$295.00	\$20,650.00
		Furnish and install 10" x						
	3212	6" sanitary sewer factory						
	3212	wyes or tees; complete as						
		specified	Each	1.00	\$387.00	\$387.00	\$365.00	\$365.00
		Furnish and install 12" x						
	3214	6" sanitary sewer factory						
	0211	wyes or tees; complete as						
		specified	Each	3.00	\$526.00	\$1,578.00	\$540.00	\$1,620.00
		Furnish and install 4"						
	3230	sanitary sewer laterals						
		(new); complete as			****			
		specified	Linear Feet	70.00	\$96.00	\$6,720.00	\$125.00	\$8,750.00
		Furnish and install 4"/6"						
	3234	sanitary sewer lateral						
		(relay); complete as specified	T: F.	2.510.00	#100.00	Ф 2 Е1 000 00	#1 2 0.00	Ф2 21 2 00 00
		Furnish and install 4"/6"	Linear Feet	2,510.00	\$100.00	\$251,000.00	\$128.00	\$321,280.00
	3235	sanitary sewer riser						
		(relay); complete as specified	Lineau Feet	160.00	¢100.00	#20.000.00	¢120.00	¢20.480.00
		Furnish and install	Linear Feet	160.00	\$180.00	\$28,800.00	\$128.00	\$20,480.00
		sanitary sewer lateral						
	3236	marker balls; complete as						
		specified	Each	152.00	\$44.00	\$6,688.00	\$50.00	\$7,600.00
	-	Furnish and install clay	EaCH	132.00	\$ 44. 00	Φ0,000.00	00.00¢	\$7,000.00
	3238	dams; complete as						
	3230	specified	Each	73.00	\$123.00	\$8,979.00	\$125.00	\$9,125.00
		opeemea	LaCII	73.00	\$125.00	φο, 27 2.00	\$125.00	φ9,123.00

Contract 23-08 - Arthur Ave	nue, Tyler Aveni	ie, Coolidge Avenue, and B	auman Street Reco	onstruction (#8				
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
-								
Bid Opening: 01/16/2023 11	:00 AM CST							
-								
					Dorne	er Inc.	David Tenor	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
	2200	connection to existing 8"						
	3300	sanitary sewer mains;						
		complete as specified	Each	1.00	\$1,590.00	\$1,590.00	\$1,200.00	\$1,200.00
		Furnish and install						
	3302	connection to existing 10"						
	3302	sanitary sewer mains;						
		complete as specified	Each	3.00	\$1,586.00	\$4,758.00	\$2,450.00	\$7,350.00
		Furnish and install						
	3306	connection to existing 15"						
	3300	sanitary sewer mains;						
		complete as specified	Each	1.00	\$2,203.00	\$2,203.00	\$2,450.00	\$2,450.00
		Furnish and install						
	3308	connection to existing 18"						
	0000	sanitary sewer mains;						
		complete as specified	Each	2.00	\$2,552.00	\$5,104.00	\$3,500.00	\$7,000.00
		Furnish and install						
	3330	sanitary sewer concrete						
		collars; complete as						
		specified	Each	2.00	\$693.00	\$1,386.00	\$1,000.00	\$2,000.00
		Core into existing						
	3332	manhole; complete as	- 1	1.00	42.002.00	42.002.00	# 2.25 0.00	42.250.00
		specified	Each	1.00	\$3,983.00	\$3,983.00	\$2,350.00	\$2,350.00
		Furnish and install 10"						
	3404	sanitary sewer open cut						
		casing pipes; complete as specified	I in one Foot	120.00	¢104.00	¢22.200.00	\$225.00	¢27,000,00
		Furnish and install 18"	Linear Feet	120.00	\$194.00	\$23,280.00	\$225.00	\$27,000.00
		sanitary sewer open cut						
	3410	casing pipes; complete as						
		specified	Linear Feet	15.00	\$255.00	\$3,825.00	\$275.00	\$4,125.00
		Furnish and install 24"	Linear reet	15.00	Ψ255.00	ψ3,023.00	\$273.00	Φ4,125.00
		sanitary sewer open cut						
	3412	casing pipes; complete as						
		specified	Linear Feet	15.00	\$327.00	\$4,905.00	\$325.00	\$4,875.00
		Rock excavation;	Emicul I CCt	15.00	φ027.00	ψ±,,200.00	ψ020.00	ψ±,073.00
	3600	complete as specified	Cubic Yards	25.00	\$125.00	\$3,125.00	\$0.01	\$0.25
		Closed circuit televising;	20210 10100	20.00	Ģ125.00	ψ3,120.00	ψ0.01	ψ0.25
	3700	complete as specified	Linear Feet	3,765.00	\$1.50	\$5,647.50	\$6.05	\$22,778.25
	_!	- Trans an opening	Lincul I CCt	5,7 00.00	ψ1.50	ψυ,υπ. 1.00	ψ0.05	ΨΖΖ,110.20

Contract 23-08 - Arthur Ave	enue, Tyler Aveni	ue, Coolidge Avenue, and B	auman Street Reco	onstruction (#8				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	of of							
Bid Opening: 01/16/2023 11	:00 AM CST							
					Dorner	r Inc.	David Tenor	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Closed circuit televising -						
	3710	using push camera;						
		complete as specified	Each	4.00	\$132.00	\$528.00	\$500.00	\$2,000.00
		Abandon sanitary sewer						
	3800	manholes; complete as	- 1		40== 00	42.4.42.00	**************************************	#= = 00.00
		specified	Each	6.00	\$357.00	\$2,142.00	\$950.00	\$5,700.00
	2002	Abandon 8" sanitary						
	3802	sewer; complete as specified	T: F.	(10.50	#7 00	#4 220 F0	¢4.00	ФО 474 OO
		Abandon 10" sanitary	Linear Feet	618.50	\$7.00	\$4,329.50	\$4.00	\$2,474.00
	3804	sewer; complete as						
	3604	specified	Linear Feet	915.00	\$8.00	\$7,320.00	\$6.00	\$5,490.00
		Abandon 12" sanitary	Effect Feet	715.00	φο.σο	ψ1,020.00	φο.σο	ψ0,170.00
	3806	sewer; complete as						
	0000	specified	Linear Feet	28.70	\$10.00	\$287.00	\$8.00	\$229.60
		Abandon 18" sanitary			·	·	·	·
	3810	sewer; complete as						
		specified	Linear Feet	56.20	\$18.00	\$1,011.60	\$30.00	\$1,686.00
		Remove sanitary sewer						
	3852	manholes; complete as						
		specified	Each	1.00	\$20.00	\$20.00	\$1,200.00	\$1,200.00
	3854	Remove sanitary sewer;						
	3034	complete as specified	Linear Feet	181.00	\$51.00	\$9,231.00	\$115.00	\$20,815.00
		Sanitary sewer utility line						
	3890	opening (ULO); complete						
		as specified	Each	4.00	\$960.00	\$3,840.00	\$500.00	\$2,000.00
		Excavation special						
	3892	(sanitary); complete as	T	70.00	Ф20.00	¢1 400 00	# 25 00	ф1 7 50 00
		specified Furnish and install 6"	Tons	70.00	\$20.00	\$1,400.00	\$25.00	\$1,750.00
		ductile iron water main						
	4002	(relay) with polywrap;						
		complete as specified	Linear Feet	280.00	\$115.00	\$32,200.00	\$124.00	\$34,720.00
	+	Furnish and install 8"	Emical I CCt	200.00	φ115.00	ψ32,200.00	ψ124,00	φυτ,/ 20.00
		ductile iron water main						
	4004	(relay) with polywrap;						
		complete as specified	Linear Feet	3,250.00	\$129.00	\$419,250.00	\$136.00	\$442,000.00
	ļ.							

Contract 23-08 - Arthur Ave	nue, Tyler Avent	ıe, Coolidge Avenue, and B	auman Street Reco	onstruction (#8				
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11	:00 AM CST							
8								
					Dorne	or Inc	David Tenor	Cornoration
					Donic	ii iic.	Davia Tenor	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Time	Trem coue	Furnish and install 12"		Quantity	0	EXTENSION	O III C I II C	ZATOTOTO
		ductile iron water main						
	4008	(relay) with polywrap;						
		complete as specified	Linear Feet	40.00	\$235.00	\$9,400.00	\$192.00	\$7,680.00
		Furnish and install 1"	Linear Feet	40.00	\$233.00	\$7,400.00	\$192.00	\$7,000.00
	4026	water service (relay);						
	4036		T: E .	2 400 00	Φ 7 0.00	#18 7 2 00 00	#100.00	#240,000,00
		complete as specified Furnish and install 1-1/4"	Linear Feet	2,400.00	\$78.00	\$187,200.00	\$100.00	\$240,000.00
	4037	water service (relay);		== 00	****	* 4 4 4 0 0 0 0 0	* 40 = 00	A= === 00
		complete as specified	Linear Feet	55.00	\$80.00	\$4,400.00	\$105.00	\$5,775.00
		Furnish and install 1"						
	4042	water service (new);						
		complete as specified	Linear Feet	95.00	\$78.00	\$7,410.00	\$100.00	\$9,500.00
		Furnish and install 1"						
	4048	corporation and stop box;						
		complete as specified	Each	68.00	\$577.00	\$39,236.00	\$525.00	\$35,700.00
		Furnish and install 1-1/4"						
	4050	corporation and stop box;						
		complete as specified	Each	1.00	\$1,140.00	\$1,140.00	\$1,050.00	\$1,050.00
		Furnish and install water						
	4055	service clay dams;						
		complete as specified	Each	69.00	\$123.00	\$8,487.00	\$75.00	\$5,175.00
		Furnish and install						
	40=0	connections to existing 6"						
	4058	water main; complete as						
		specified	Each	8.00	\$1,779.00	\$14,232.00	\$1,700.00	\$13,600.00
		Furnish and install			·			
		connections to existing 8"						
	4060	water main; complete as						
		specified	Each	1.00	\$1,995.00	\$1,995.00	\$2,000.00	\$2,000.00
		Furnish and install			, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		connections to existing						
	4064	12" water main; complete						
		as specified	Each	3.00	\$2,623.00	\$7,869.00	\$2,400.00	\$7,200.00
		Furnish and install 6" x 6"	Lucii	3.30	Ψ2,020.00	φ1,002.00	Ψ2, 100.00	φ, ,200.00
	4101	water main tee; complete						
	4101	as specified	Each	1.00	\$610.00	\$610.00	\$500.00	\$500.00
	-	Furnish and install 8" x 6"	Each	1.00	ф010.00	.ро10.00	ф 300.00	φ500.00
	4110	water main tee; complete						
	4110	as specified	E a -1-	F 00	Φ01E 00	Φ4 0 7 Ε 00	Ф70 Е 00	#2 C7E 00
		as specified	Each	5.00	\$815.00	\$4,075.00	\$735.00	\$3,675.00

Contract 23-08 - Arthur Aver	nue, Tyler Aven	ue, Coolidge Avenue, and Ba	uman Street Red	onstruction (#8				
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City								
, , , ,								
Bid Opening: 01/16/2023 11:	00 AM CST							
	1							
					Dorner I	Inc	David Tenor (Cornoration
					Domeri	inc.	David Tellor	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Tiem couc	Furnish and install 8" x 8"	001111	Quantity	Chit Trice	Extension	ChitThee	Extension
	4111	water main tee; complete						
	4111	as specified	Each	3.00	\$832.00	\$2,496.00	\$750.00	\$2,250.00
		Furnish and install 12" x	Each	3.00	\$632.00	Ψ2,470.00	Ψ/30.00	Ψ2,230.00
	4129	8" water main tee;						
	4129	complete as specified	Each	1.00	\$1,295.00	\$1,295.00	\$1,195.00	\$1,195.00
		Furnish and install 6" x 8"	Each	1.00	\$1,293.00	\$1,293.00	\$1,195.00	\$1,195.00
	4100	water main cross;						
	4182	complete as specified	г 1	1.00	¢1 020 00	ф1 020 00	#0 7 0 00	#0 70 00
		Furnish and install 8"	Each	1.00	\$1,030.00	\$1,030.00	\$970.00	\$970.00
	4219	11-1/4 degree water main						
		bend; complete as	т. 1	2.00	0.470.00	#0 = 0.00	#20 5 00	ф т оо оо
		specified	Each	2.00	\$479.00	\$958.00	\$395.00	\$790.00
		Furnish and install 8"						
	4228	22-1/2 degree water main						
		bend; complete as						
		specified	Each	3.00	\$499.00	\$1,497.00	\$405.00	\$1,215.00
		Furnish and install 6" 45						
	4236	degree water main bend;						
		complete as specified	Each	27.00	\$395.00	\$10,665.00	\$355.00	\$9,585.00
		Furnish and install 8" 45						
	4237	degree water main bend;						
		complete as specified	Each	11.00	\$503.00	\$5,533.00	\$410.00	\$4,510.00
		Furnish and install 12" 45						
	4239	degree water main bend;						
		complete as specified	Each	4.00	\$1,026.00	\$4,104.00	\$950.00	\$3,800.00
		Furnish and install 6"						
	4254	water main cap; complete						
		as specified	Each	1.00	\$242.00	\$242.00	\$215.00	\$215.00
		Furnish and install 8"						
	4255	water main cap; complete						
		as specified	Each	1.00	\$319.00	\$319.00	\$300.00	\$300.00
		Furnish and install 8" x 6"						
	4264	water main reducer;						
		complete as specified	Each	7.00	\$441.00	\$3,087.00	\$400.00	\$2,800.00
		Cut and cap existing 6"						
	4352	water main; complete as						
		specified	Each	2.00	\$782.00	\$1,564.00	\$1,500.00	\$3,000.00

Contract 23-08 - Arthur Ave	nue, Tyler Avenı	1e, Coolidge Avenue, and B	auman Street Reco	onstruction (#8				
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
-								
Bid Opening: 01/16/2023 11	:00 AM CST							
1 0								
					Dorne	er Inc.	David Tenor	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Cut and cap existing 8"		211 119				
	4354	water main; complete as						
	1001	specified	Each	2.00	\$908.00	\$1,816.00	\$1,600.00	\$3,200.00
		Cut and cap existing 12"	Zuerr	2.00	\$700.00	Ψ1/010.00	\$1,000.00	ψο/Ξοσίου
	4358	water main; complete as						
	4330	specified	Each	2.00	\$1,227.00	\$2,454.00	\$2,225.00	\$4,450.00
		Furnish and install 6"	Eucit	2.00	Ψ1,227.00	Ψ2,101.00	Ψ2,220.00	ψ1,100.00
	4401	water main gate valve;						
	4401	complete as specified	Each	9.00	\$2,104.00	\$18,936.00	\$1,970.00	\$17,730.00
		Furnish and install 8"	Lucii	7.00	Ψ2,104.00	\$10,750.00	ψ1,77 0.00	ψ17,750.00
	4402	water main gate valve;						
	4402	complete as specified	Each	15.00	\$2,934.00	\$44,010.00	\$2,720.00	\$40,800.00
		Furnish and install 12"	Lacit	13.00	\$2,754.00	\$\psi_010.00	\$2,720.00	\$40,000.00
	4404	water main gate valve;						
	4404	complete as specified	Each	2.00	\$5,136.00	¢10.272.00	¢4.740.00	\$9,480.00
		Furnish and install 12" x	Each	2.00	\$3,130.00	\$10,272.00	\$4,740.00	\$9,400.00
		8" tapping valve and						
	4447	sleeve; complete as						
		specified	Each	1.00	¢E 447.00	ΦE 447.00	¢E 400 00	¢€ 400.00
		Furnish and install	Each	1.00	\$5,447.00	\$5,447.00	\$5,400.00	\$5,400.00
	4500	hydrant; complete as						
	4500	specified	E I	7.00	Φ.C. 0 22. 00	¢42.154.00	ΦE 010 00	#40 CF0 00
		Furnish and install 2"	Each	7.00	\$6,022.00	\$42,154.00	\$5,810.00	\$40,670.00
	4510							
	4712	water main casing pipe;	T: F (110.00	ф1 2 4 00	#12.640.00	₫ ₹0.00	Φ7 F00 00
		complete as specified Furnish and install 16"	Linear Feet	110.00	\$124.00	\$13,640.00	\$70.00	\$7,700.00
	1701							
	4724	water main casing pipe;	T. P.	20.00	#244.00	ф т 22 0 00	#100.00	ΦΕ 400 00
		complete as specified	Linear Feet	30.00	\$244.00	\$7,320.00	\$180.00	\$5,400.00
	4920	Remove water main;	T. P.	F1F 00	#2 7 00	#10.055.00	# CO OO	#20,000,00
		complete as specified	Linear Feet	515.00	\$37.00	\$19,055.00	\$60.00	\$30,900.00
	1000	Excavation special						
	4990	(water); complete as	_	=	400.00	** 400.00	***	44 400 00
		specified	Tons	70.00	\$20.00	\$1,400.00	\$20.00	\$1,400.00
		Bentonite slurry dam						
	4992	(water); complete as	- 1		# 22 0.00	** (00.00	44.000.00	# c 000 00
		specified	Each	5.00	\$320.00	\$1,600.00	\$1,200.00	\$6,000.00
		Furnish and install pull						
	5013	box (non-conductive); 18"						
		x 36"; complete as	- 1			0.00.00		0=0.400.00
		specified	Each	33.00	\$1,848.00	\$60,984.00	\$1,800.00	\$59,400.00

Contract 23-08 - Arthur Aven	ue, Tyler Aveni	ie, Coolidge Avenue, and B	auman Street Reco	onstruction (#8				
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City								
Bid Opening: 01/16/2023 11:0	00 AM CST							
					Dorne	r Inc.	David Tenor	Corporation
								•
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install pull						
	5019	box - non-conductive; 24"						
	3019	x 42"; complete as						
		specified	Each	5.00	\$1,953.00	\$9,765.00	\$1,900.00	\$9,500.00
	5025	Adjust pull box; complete						
	3023	as specified	Each	37.00	\$5.00	\$185.00	\$5.20	\$192.40
		Install CITY-supplied						
	5051	lighting control cabinet;						
		complete as specified	Each	1.00	\$2,112.00	\$2,112.00	\$2,100.00	\$2,100.00
	5054	Install electrical service;						
	5651	complete as specified	Each	1.00	\$2,375.00	\$2,375.00	\$2,350.00	\$2,350.00
		Furnish and install 2"						
	5120	Schedule 40 PVC;						
		complete as specified	Linear Feet	3,280.00	\$10.60	\$34,768.00	\$10.25	\$33,620.00
		Furnish and install 3"						
	5130	Schedule 40 PVC;	T. F.	2 000 00	#14.00	#42 020 00	Ø14.50	#42 050 00
		complete as specified 3" Schedule 80 PVC Bore;	Linear Feet	2,900.00	\$14.80	\$42,920.00	\$14.50	\$42,050.00
		including Bore Pits and						
	5170	Utility Line Openings;						
		complete as specified	Lincor Foot	260.00	\$3.00	\$780.00	\$3.00	\$780.00
	-	Furnish and install 4	Linear Feet	260.00	\$5.00	\$7.60.00	\$5.00	\$7.60.00
	5230	gauge red-coated wire;						
	3230	complete as specified	Linear Feet	8,490.00	\$2.60	\$22,074.00	\$2.75	\$23,347.50
		Furnish and install 4	Effical Teet	0,470.00	Ψ2.00	Ψ22,07 4.00	ψ2.7 3	Ψ23,347.30
	5231	gauge black-coated wire;						
	3231	complete as specified	Linear Feet	8,490.00	\$2.60	\$22,074.00	\$2.75	\$23,347.50
	+	Furnish and install 8	Zinear rect	0,150.00	\$2.00	\$22j07 1100	4217 0	\$20j0 II 100
	5252	gauge green-coated wire;						
	0202	complete as specified	Linear Feet	6,835.00	\$1.60	\$10,936.00	\$1.75	\$11,961.25
		Furnish and install 12		,	·	. ,	·	. ,
	5270	gauge red-coated wire;						
		complete as specified	Linear Feet	1,440.00	\$0.80	\$1,152.00	\$1.00	\$1,440.00
		Furnish and install 12			-			
	5271	gauge black-coated wire;						
		complete as specified	Linear Feet	1,440.00	\$0.80	\$1,152.00	\$1.00	\$1,440.00
		Furnish and install 12						
	5272	gauge green-coated wire;						
		complete as specified	Linear Feet	1,440.00	\$0.80	\$1,152.00	\$1.00	\$1,440.00

Contract 23-08 - Arthur Ave	enue, Tyler Avent	ue, Coolidge Avenue, and B	auman Street Rec	onstruction (#8				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	7 of							
Bid Opening: 01/16/2023 11	:00 AM CST							
					Dorne	r Inc.	David Tenor	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install fuse						
	5380	holder; complete as						
		specified	Each	72.00	\$58.00	\$4,176.00	\$57.00	\$4,104.00
		Furnish and install 2A						
	5386	fuse; complete as						
		specified	Each	72.00	\$5.00	\$360.00	\$5.20	\$374.40
		Install CITY-supplied 20'						
	5452	tapered pole with						
	0.102	transformer base;						
		complete as specified	Each	36.00	\$581.00	\$20,916.00	\$575.00	\$20,700.00
		Install CITY-supplied 10'						
	5458	truss-type luminaire arm;						
		complete as specified	Each	36.00	\$370.00	\$13,320.00	\$375.00	\$13,500.00
		Install CITY-supplied						
	5470	cobra head luminaire;	- 1	25.00	***	☆▼ = 0 < 00	4240.00	AT T (0.00
		complete as specified	Each	36.00	\$211.00	\$7,596.00	\$210.00	\$7,560.00
	==0.4	Furnish and install Type						
	5504	5 base; complete as specified	Each	36.00	\$1,029.00	\$37,044.00	\$1,000.00	\$36,000.00
		Furnish and install Type	Eacn	36.00	\$1,029.00	\$37,044.00	\$1,000.00	\$30,000.00
	FFOC	9 base; complete as						
	5506	specified	Each	1.00	\$2,112.00	\$2,112.00	\$2,100.00	\$2,100.00
Bid Total:		эрссиси	EdCII	1.00	\$2,112.00	\$6,197,329.85	\$2,100.00	\$6,692,430.80
DIG TOTAL:	I					\$0,197,329.85		\$0,074,430.80